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Question Number : 1 Question Id : 97675522229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the the set of words the relationship among which is best represented by the following venn diagram.

Options :
1. #* Fathers, Uncles, Brothers
2. # Mothers, Daughters, Females



3. ¥ Mothers, Females, Sisters
4. # Grandmothers, Mothers, Fathers

Question Number : 1 Question Id : 97675522229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST F 3H FHTAT F TIA HaC o 7 & Ty F i@ a9 MW @R wdfcan & |
fawig fFar =1 gar B

Options :

1. % fOdT, 9=, WS
3.« HIAIY, AfgATY, 98

4. % ey, Ararg, foar

Question Number : 2 Question Id : 97675522230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter cluster in the given letter cluster series is WRONG?

GMX, HOA, IQD, JSG, KVL, LWM
Options :

1. % 1QD

2. ® JSG

3. ¥ KVL

4. % LWM



Question Number : 2 Question Id : 97675522230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 712 seR Tg Aoft H B 1 S1eR JHE e 32

GMX, HOA, IQD, JSG, KVL, LWM
Options :

1. = IQD

2. % JSG

3. ¥ KVL

4. % LWM

Question Number : 3 Question Id : 97675522231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

CLOVE : EVOLC :: DERMAT : ?
Options :

1. ¥ TAMRED

2. % TARMED

3. ®* TMARDE

4. % TAERMD

Question Number : 3 Question Id : 97675522231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I MR- BT T PIfoTd Sl AR SHER-THE T I THR I e g Ford ThR gaRT 31&R-T1g Ugd 3feR-T4g ¥ afd g

CLOVE : EVOLC :: DERMAT : ?
Options :

1. ¥ TAMRED

2. % TARMED



3. ¥ TMARDE
4. % TAERMD

Question Number : 4 Question Id : 97675522232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word-pair that best represents a similar relationship to the one expressed in the pair of words given below.

Beirut : Lebanon
Options :

1. # Europe : Singapore
2. % Cairo : Romania
3. ¥ Brussels : Belgium
4. % Lima : Brazil

Question Number : 4 Question Id : 97675522232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faenl & I Xea-giH 1 99 BIToTE St 19 AT 7Y Xeg-gm § idd Aee & JAM HaY BT FeiUd dadl g |
e A

Options :

1. “@UW
2. % HIQRT : JHTHAT
3. ¢ JOe : ofestay
4. % G Sold

Question Number : 5 Question Id : 97675522233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A " B means ‘A is the father of B’, A + B means ‘A is the son of B’. Which of the following conclusions can be drawn from the expression ‘H *
K "Y+U?

Options :



1. ¥ K is the husband of U.

2. % H is the father of Y.

3. # U is the daughter of H.

4. % H is the grandfather of U.

Question Number : 5 Question Id : 97675522233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A*BHIAG, A, BHIUAR, A+BHT R ‘A, BHI T d, &o® ‘H KA Y + U I Fgfaiad Frest & 9 & a1 fsey fHeerar s
DT 52

Options :

.Y K USRI

2. % H, Y BT

3. % U HBI R

4. % H,U BTGl

Question Number : 6 Question Id : 97675522234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From his home, Ajay walks a certain distance, say X, towards the south. From there, he turns left and walks 30 m to reach a bank. The shortest
distance between his home and the bank is 50 m. What is the value of X?

Options :
1. % 60 m
2. % 70 m
3. % 50 m
4.9 40 m

Question Number : 6 Question Id : 97675522234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3oTg 37U TR W G0 &1 SR U T g o &l §, Sl X 8| T8I ¥ 98 14 3T § 3R U 9 Ugd- & [ad 30 m IAdT & | TP TR
3R &% & & Bt YATH g3 50 m & | X BT A b1 g2




Options :
1. % 60m
2. % 70m
3. % 50m
4. ¥ 40 m

Question Number : 7 Question Id : 97675522235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd letter-cluster.
Options :

1. ¥ GLQVA

2. % BGLQV

3. ¥ CHMRW

4. ¥ YDIMT

Question Number : 7 Question Id : 97675522235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepedl 7 TR 3reR-gg e e &, RFd I 7 fdh 7 i UpR A Uer S & 3R T 3/Td B | 39 3T 3HeR-JHg b1 9 B
Options :

1. ¥ GLQVA

2. % BGLQV

3. ¥ CHMRW

4. ¥ YDIMT

Question Number : 8 Question Id : 97675522236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four letter-clusters pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-cluster pair.

Note: For this question, discrepancy 1s found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. ROCKY : ZLDPQ

2. MATCH : IDUBN

3. BROWN : OYPTC

4. CLOSE : FTPMD

Question Number : 8 Question Id : 97675522236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fadedl H IR 31eR-Tg M AU MU &, o O oiF forsht 7 fhefl R U o1 § SfR U SRiTTd 8 | 39 SRiTTd 3HeR-THg T &I I8
Hifor|

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ROCKY : ZLDPQ

2. MATCH : IDUBN

3. BROWN : OYPTC

4. CLOSE : FTPMD

Question Number : 9 Question Id : 97675522237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the odd words.
Options :

1. ¢ Cartilage

2. % Diabetes

3. % Squint

4. % Eczema



Question Number : 9 Question Id : 97675522237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

famedl # IR Weg fu MU &, o 9 iF forell TR ¥ T O § 9iR T SiTTd 8 | S SIRTd XeG &1 I8 Hifoid |
Options :

1. ¢ JUIRY

2. ¥ OYAg

3. % YU

R RCIN|

Question Number : 10 Question Id : 97675522238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anita is the mother of Prashant’s father; how Prashant’s mother is related to Anita’s husband?
Options :

1. # Daughter

2. # Paternal granddaughter

3. ¥ Daughter-in-law

4. % Sister

Question Number : 10 Question Id : 97675522238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, TRTId o fUd 1 T &; URIid &1 Al BT 31l & Ul 3 o1 Haef 52
Options :

1. % QA

2. % Ordl

3.¥ dg

4, % dg-

Question Number : 11 Question Id : 97675522239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Janhvi is the mother of Rima. Kavya is the mother-in-law of Raman who is the father of Virat. Rima is the sister of Virat. How is Janhvi related
to Kavya?

Options :

1. # Mother
2. # Sister

3. % Daughter

4. % Paternal aunt

Question Number : 11 Question Id : 97675522239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sedt, ST &1 AT 8 | 1o, THE B 91 3, SN favte 1 frar g1 S, fakTe &t 9181 3 | e dt, Sren § fhg UsR Tefdd 82
Options :

1. % °f

2. % dg-

3.9 I

4. % 9

Question Number : 12 Question Id : 97675522240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jonita is the mother of Manav. Parimal is the son of Chetan who is the brother of Devi. Vaishali is married to Parimal. John is married to Jonita.
Parimal is the son of Manav’s only son. Devi is the daughter of Vaidehi who is wife of Sukriti’s brother Manav. Which of the following statement
is CORRECT?

Options :

1. # Jonita is the mother of Vaidehi.
2. # Parimal is the son of John.

3. % Sukriti is the daughter of Jonita.

4. # Jonita is the paternal grandmother of Sukriti.

Question Number : 12 Question Id : 97675522240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SNaT, HTa &1 AT & | TREd, I &1 A § S Gdl BT HTs & | aTel 1 farg uidd & g g | 5 &1 faarg SifAdr @ gaf g | uRkyd, Hra
& ZHAId T BT GA g1 3o, IS8 B T 3 S Pl & UTE AMHa 1 Tell 3 | Faferied § ¥ 19 91 oy a8t 32

Options :

1. % S, ace @1 Al g

2. % URAd, ST BT YA

3. Yol A i 2|

4. % Sfa, gPpfa 1t B

Question Number : 13 Question Id : 97675522241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An interrogative statement is followed by two arguments numbered I and II. Decide which of the arguments is ‘strong’ with respect to the
statement and choose the answer from the alternatives.

Statement:
Should all the newly appointed doctors be posted in the rural areas looking at the increasing number of infectious disease in the these areas?

Arguments:
I. No, this would lead to empty seats of the doctors leading to lack of resources to deal with emergent health issues in the urban areas.
II. Yes. Urban area people are well educated, they can take care of their health themselves.

Options :

1. ¥ Only argument is I is strong
2. % Only argument II is strong
3. # Both I and II are strong

4. % Neither I nor II is strong

Question Number : 13 Question Id : 97675522241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UYArddh &Y & §1G &l a1 3R 11 3T MU § | T & {6 Hy & Jay H pH I ah q=ia § 3R fawed § 9 3R gu|

DhY:




1 T & H HehTHeh AT D1 Fedl U1 Bl ¢&d gU G Fafged SlaeRl o1 39 &A1 T UgwiIfud fasar S =g

L
1. o, SUY Sidex] i Tlc T[Tt gl S forTd e &1 § 3 RHP Wy 3] ¥ Mued & ol Iamel & &l U S|
I1. g, T8t & & AT R 81 §, 3 30 Wy &1 /T Wd R Ihd g |

Options :

1. ¥ Had db [ I §

2. % PHad do [ Iad &

3. % b 1 3R 11 Sl I §

4. % A1 dDH 1 MR T dP 11 I &

Question Number : 14 Question Id : 97675522242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the given four figure pairs are similar in a certain manner while one is different. Choose the odd one out.
Options :

0 O
—_— |—
=] {
1. ®
o QO
—_ | —
—_g | —
2. ®
O ')
—_— | ——A
A O



Question Number : 14 Question Id : 97675522242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
famedl & foU U R sefa gl § ¥ & Ue FMiYd diies ¥ 90 & STaid U SR § 1 39 ST Sdhid I &1 79 Sifod |

Options :

0 O
—_—p |

o {




Question Number : 15 Question Id : 97675522243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

I Ead e be

1 2 3 4
Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 15 Question Id : 97675522243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 & % IR Fefedt # ¥ A9 v B¥uT 3% ¥ wEw § 59w swea B 39 wEea
HTHTT F =T HIAT

I Ead I Pe

1 2 3 4
Options :
1. %1
2. %2
3.3
4. % 4




Question Number : 16 Question Id : 97675522244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The figures given below are numbered 1 to 6. Group the following figures on the basis of identical properties and select

the CORRECT option.

0° N® [am<
lﬁ. L I E&A
012 on
4 4 |s O

Options :

1.+ 1,2and 4
2. % 1,4and 6
3. % 2 3and 6
4. % 1,4and 5

Question Number : 16 Question Id : 97675522244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A= & TS HAAT 1 T 6 IF TSI gl § NP H FAT ATFFEIOT F HUR W THEFA
HFfaT 3T @ T 77 37 ST

o; N® |-
1 . 2.ﬁ3$
7|l

40- 500 B .‘
Options :
1.¥1,23R 4
2. % 1,43R6
3. %2 33R6
4. % 1, 43R5

Question Number : 17 Question Id : 97675522245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following option figure will complete the pattern in the figure given below?

?

Options :




2.

4.

Question Number : 17 Question Id : 97675522245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT=fefEa J 4 #ia @ Reey s3wpa = & % 3l F sfaww (Seo) & 9o e

?

Options :

l. =



Question Number : 18 Question Id : 97675522246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number in the following number series is WRONG?

5,12, 28, 62,132,272, 560
Options :

1. % 28

2. % 62

3. % 132

4. ¥ 272

Question Number : 18 Question Id : 97675522246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR e 9o & S < e Tea 22

5,12, 28, 62,132,272, 560



Options :
1. * 28
2. % 62
3. % 132
4. ¥ 272

Question Number : 19 Question Id : 97675522247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of ¥ 3910 is to be divided among three friends A, B and C in the ratio of 16 : 13 : 17 resepctively. How much amount will A and B
taken together will receive?

Options :

1. % 32529
2. % %2505
3. ¥ 32465
4. % %2405

Question Number : 19 Question Id : 97675522247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;i%loaﬁmﬁ?ﬂqﬁﬁA,BGﬁ?C$aﬁﬂm: 16213 : 17 % 3I0Td & AU [ ST 81 A IR B &1 5 o1 11T o1
§

Options :

1. % 32529

2. % 32505

3. ¥ 32465

4. % 32405

Question Number : 20 Question Id : 97675522248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number will replace the question mark (?) in the following series?



40, 53, 72,98, 132, 175, ?
Options :
1. #* 235
2. % 225
3.9 228
4. % 218

Question Number : 20 Question Id : 97675522248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa 9oft & yaig (2) & A R S ) Gaa smuf

40, 53, 72,98, 132, 175, ?

Options :
1. % 235
2. % 225
3.9 228
4. % 218

General Awareness
Group Number : 2
Group Id : 976755783
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness
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Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 9767551412
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675522249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state governments launched ‘save water to get free water’ in September 20217
Options :

1. # Kerala

2. % Karnataka

3. # Uttarakhand

4. ¥ Goa

Question Number : 21 Question Id : 97675522249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad O 9 forg Iog WReR A RideR 2021 H G U U & {o1T Uil S=rell' dt 3T i
Options :

[. % Hd

2. ® FHACH

3. % IRES




4. ¥ Tal

Question Number : 22 Question Id : 97675522250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following state the wild orchids conservation and propagation center is opened in September 20217
Options :

1. ¥ Arunachal Pradesh

2. % Assam

3. % West Bengal

4. % QOdisha

Question Number : 22 Question Id : 97675522250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfa o 9 fore Iou & RideR 2021 7 STl 3iffdhs TRemm 3R TR s Tier 1 72
Options :

1. ¥ 3BUe UexI

2. % 34H

3. % T §a

4. % 3nfEam

Question Number : 23 Question Id : 97675522251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bangladeshi vaccine scientist has won the Ramon Magsaysay Award 2021.
Options :

1. % Dr. Firdausi Qadri

2. % Dr. Muhammad Amjad Saqib

3. % Steven Mnuchin

4, % Robert Bunsen



Question Number : 23 Question Id : 97675522251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg aireme el darfie 3T BT 2021 F T FREY REBR T T foar mar 82
Options :

1. ¢ 3. fRaRA Pread

2. % Sl HgHIG 3HVIG Hlihd

3. % Waq gt

4, % S I

Question Number : 24 Question Id : 97675522252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IIT Ropar and Kanpur have collaborated with which university to launch a live plant based air purification named “UBreathe Life”?
Options :

1. # Jawaharlal Nehru University

2. # Lovely Professional University

3. # Himachal Pradesh University

4. % Delhi University

Question Number : 24 Question Id : 97675522252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[T AUE 3R HHGR A fhw fayfaemera & Iy s “get AW (UBreath Life)" THS SHiad-Gre STUTRT T a1g NUH Tl [l g2
Options :

1. % JaTevdrd de% [ayfaemad oNU)

2. % A YR giHaRic! (LPU)

3. % fgamaa ue fayfaemed (Hpu)

4. ¢ feet fasyfaemera (pu)




Question Number : 25 Question Id : 97675522253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is CORRECTLY matched?
Options :

1. * Bharatnatyam — Kerala

2. % Mohiniyattam — Tamil Nadu

3. ¥ Kuchipudi — Andhra Pradesh

4. % Sattriya — Karnataka

Question Number : 25 Question Id : 97675522253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad fawed & @ o9 w1 98t gafed 82
Options :

1. % YRTCIH —

2. # hifgercy - dfiarg

3. ¢ BRIYST - 3y U

4. % AT - HAlcH

Question Number : 26 Question Id : 97675522254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to ‘Sangeetharatnakara’ and ‘Abhinayadarpana’, which of the following is NOT the technique of dance?
Options :

1. # Natya

2. % Nritt

3. ® Nrithya

4. ¥ Nrityam

Question Number : 26 Question Id : 97675522254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FRATDHR R ATIHr & SR, FafaRad fawmedl § § $H I 7d &1 Th a1 Ta1 82
Options :

1. ® A9IA

2. % 9

3. % d

4.« JOH

Question Number : 27 Question Id : 97675522255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ceremonial baths is held on the fourth day of the Raja Parba festival?
Options :

1. # Pahili Raja

2. % Mithuna Sankranti

3. ¥ Bhu Daaha

4. ¥ Vasumati Gadhua

Question Number : 27 Question Id : 97675522255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & & S 91 o | el IReT 344 & i fa smaford fosar S g2
Options :

1. % gfgell ol

2. % Y Gopifd

3. % Hale

4. ¢ IYAA HH

Question Number : 28 Question Id : 97675522256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following was the capital of Malwa during the Parmar dynasty?
Options :

1. % Dhar, Mandu

2. % Ujjain, Mandu

3. # Jodhpur, Dhar

4. % Ujjain, Dhar

Question Number : 28 Question Id : 97675522256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRAR 3 & R FHgfaRad & 9 & I araar &1 e o
Options :

1. ¥ YR, HIg

2. % I, Al

3. % SYR, UR

4. % IS, 4R

Question Number : 29 Question Id : 97675522257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Gita Rahasya’ written by Bal Gangadhar Tilak was published in which of the following years?
Options :

1. * 1935

2. % 1925

3. ¥ 1915

4. % 1905

Question Number : 29 Question Id : 97675522257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TeR forae gRT fafad iar g fHafeied o 9 food ad 3 uebiiRid gof um

Options :



1. % 1935
2. % 1925
3. ¥ 1915
4. % 1905

Question Number : 30 Question Id : 97675522258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At which of the following jails was the Poona pact signed?
Options :

1. ¥ Yerwada Central Jail

2. # Jalalabad Central Jail

3. % Harsul Central Jail

4. # Taloja Central Jail

Question Number : 30 Question Id : 97675522258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa # 9 foa Sra 8 g 99ia &R gwaier e e Q9

Options :

1. ¢ YAGI HGId HRER

2. % SIS HEId PRER
3. % GIYA B PRIAR

4. % qAT HgIT PRAR

2

)
D

Question Number : 31 Question Id : 97675522259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following state governments decided to rename Rajiv Gandhi National Park as Orang National Park?
Options :

1. % Mizoram



2. # Tripura
3. #* Arunachal Pradesh
4. ¥ Assam

Question Number : 31 Question Id : 97675522259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied # 9 fobdt o0 TRDR = it Mieft AP S b1 TH SererebR 3R AP S bR b1 (07 feram
Options :

1. # foRA

2. % IR

3. % RO UaxT

4. HYH

Question Number : 32 Question Id : 97675522260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Wular’ the largest lake of fresh water in India is situated in which of the following states/union territories?
Options :

1. # Assam

2. ¥ Kashmir

3. * Punjab

4. ¥ Andhra Pradesh

Question Number : 32 Question Id : 97675522260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA A i g &1 Iad o 2ia ger Fafoied & § fow Tsa/ds niid uex & fRa g2
Options :

1. % 3H

2. ¢ HIR




3. % Gullg
4. % 3Y U

Question Number : 33 Question Id : 97675522261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of May 2021, the World Data lab shows how much percentage of the total population of India living in extreme poverty?
Options :

1. % 15%

2.9 6%

3. % 20%

4. % 3%

Question Number : 33 Question Id : 97675522261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 2021 O, 908 el Ad I UdT Il § b YR B pot ST BT fbd-1 ufarrd 3rcafiies Tiet 7 38 387182
Options :

1. % 15%

2. % 6%

3. % 20%

4. % 3%

Question Number : 34 Question Id : 97675522262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much Gross Tax Revenue decreased as per the data released by the Controller General of Accounts for April-Nov 20207
Options :

1. % 42.4%

2. % 32.3%

3. % 46.6%

4. ¥ 12.6%



Question Number : 34 Question Id : 97675522262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3UA-TdeR 2020 F Y AT HRIHTAS GRT TR 3B S| B TR Thd B o | fha-t HHT 3113 52
Options :

1. % 42.4%

2. % 323%

3. % 46.6%

4.9 12.6%

Question Number : 35 Question Id : 97675522263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did RBI announce the establishment of an innovation hub to encourage access to financial services?
Options :

1. # 2021

2. % 2020

3. % 2019

4. % 2010

Question Number : 35 Question Id : 97675522263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg au # siReteg A fa<ia Yarsii 9% Ugd &1 UidTied R & I Th AR 6% o1 IO &1 9ol $H1?
Options :

1. % 2021

2. %2020

3. % 2019

4. % 2010




Question Number : 36 Question Id : 97675522264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following calls upon the lawmakers to bring the behavioral Change during delivering the first Pranab Mukerjee Memorial
Lecture in 2021?

Options :

1. ¥ Amit Shah

2. ¥ Ram Nath Kovind
3. % M. Venkaiah Naidu
4. ® Narender Modi

Question Number : 36 Question Id : 97675522264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o gibe) ¥ 2021 H U8 WO sl ¥ IR ¢ & SR TaeR # I&dTd aF BT SATEH Hdl 82

Options :

1. % HfEq e

Question Number : 37 Question Id : 97675522265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following said that the rule of law is the most fundamental feature of modern constitutions of the world?
Options :

1. ¥ SA Bobde

2. % Amit Shah

3. % Rajnath Singh

4. % DY Chandrachud

Question Number : 37 Question Id : 97675522265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafifad o @ fran oe1 b ST o1 I g & snyfRe IfumT &t ged giard fadvar g2
Options :

1. ¢ TUU §ids

2. % I TS

3. % oY Rig

4. % 319%. J5Is

Question Number : 38 Question Id : 97675522266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cases had the Hon’ble Bombay High Court stated that Judiciary and agencies like CBI and ED should act
independently?

Options :

1. ¥ Eknath Khadse’s Land Grab Case

2. % Anil Dekhmukh’s Money Laundering Case

3. # Former Mumbai Police Commissioner’s Parambir’s case

4. ® Kangana Renaut Defamation case

Question Number : 38 Question Id : 97675522266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ@aﬁﬁmmﬁﬁmaﬁmﬁmw%w@?W&ﬁ@?éﬁﬁ@@ﬁﬁ@ﬁﬂw@mm
0

Options :

1. ¢ THAY WS B STHIH 88U+ BT ATHAT

2. % I THE BT -1 Al A

3. % T8 & Jd Yo HIHR IWRHER ST HHA

4. % GHIET A AFRI HTHET




Question Number : 39 Question Id : 97675522267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Hon’ble Court suggested the Centre Government to make law commission of India as the Statutory or Constitutional Body in September
20217

Options :

1. ¥ Supreme Court of India

2. % High Court of Madras

3. % High Court of Allahabad

4. # High Court of Punjab and Haryana

Question Number : 39 Question Id : 97675522267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RydeR 2021 T oo AT AT A 6% IRBR I UR o (AT ST B U1 a1 FaeTe Fer s &1 gid faam

Options :

1. % YRd & g grarery

2. ¢ UG 3 ey

3. % gdlgldlic 3= ™y

4. % o4 3R gRamon &1 3= Uy

Question Number : 40 Question Id : 97675522268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of NASA’s first aircraft to take a powered flight on Mars?
Options :

1. % Preseverance

2. ¥ Ingenuity

3. % Courtesy

4. ¥ Dexterity

Question Number : 40 Question Id : 97675522268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS IR Fenferd IS R aTd 1T (NASA) & Ugd faHM o1 1 T 82
Options :

1. % fOafody

2. ¢ S

3. % P

4, % SRR

Arithmetic Ability

Group Number : 3

Group Id : 976755784
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 9767551214
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 9767551413
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675522269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of% oEFE 2l HEE s
5 2 4 2 3

Ba | =
+
= |
x
H
[

w |
I
Wl

Options :

Question Number : 41 Question Id : 97675522269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

£ L g2l o gl aed o o8 1w 2 ZreT?
Sﬂf?ETcl- 52-?30f2+4>"«:12-9 SHEFH?!'E:EIT -
Options :

13

4

1. =



Question Number : 42 Question Id : 97675522270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
6% +(@s5)°

What is the value of - ]
? (5.6)2—(3.5)2

(correct to one decimal place)
Options :
| % 118

5 % 12.1
3 ¢ 114

4 % 132

Question Number : 42 Question Id : 97675522270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(5.6)%+(3.5)3
(5.6)2-(35)2

(T & T Teh TUH TF Te)
Options :
% 11.8

FT AT FAT gEm?

» % 12.1
s v 114

4 % 13.2

Question Number : 43 Question Id : 97675522271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g : 2 X : . ) 5 i
A certain fraction becomes = when 1 is added to its numerator and 2 is added to its denominator. When 5 is added to

. ; ; : : 1 g ,
its denominator and 2 is subtracted from its numerator, the fraction becomes iy What is the sum of the numerator and

the denominator of the original fraction?
Options :

1. ® 9
7 # 11

3. 12

4. % 13



Question Number : 43 Question Id : 97675522271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁwﬁﬁaﬁﬁaﬁrﬁmrﬁ1aﬁam%aﬁtg¢ﬁ2aﬁam%ﬁ?a§ﬁqﬁ§ g ST B S

maﬁsmm%aﬁ?mrﬁﬂzmm%,ﬁagﬁ:ﬁi & ST ¥ 5 e & 3
3T 8T F1 TeT F=T B2

Options :

1. % 9

7 % 11

3« 12

4. % 13

Question Number : 44 Question Id : 97675522272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LCM and HCF of two numbers are 1485 and 33, respectively. If one number is 297, then the other number is:
Options :

| v 165



Question Number : 44 Question Id : 97675522272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar HEAT3it % SgeaH HAEcd (LCM) AR Fgedd ®AEas (HCF) FaAer: 1485 3k 33 g1 ofe o
HEAT 297 §, T gEY WA F4r grei?

Options :

| v 165

, % 330
s % 363

4 % 495

Question Number : 45 Question Id : 97675522273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let x be the greatest number of 4-digits which when divided by 15, 16, 20 and 24, the remainder in each case is 9.
What is the sum of the digits of x?

Options :

1. % 20



Question Number : 45 Question Id : 97675522273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT ifew &5 x, 4 3 i 97 59 ¥ 99 g g oW 15, 16, 20 3T 24 ¥ fFufeg 9T 93
Rufa & A9wer 9 31T &1 x & 3T T JT 4T 2rem?

Options :

1 = 20

) w 24
3 % 29

4.v 30

Question Number : 46 Question Id : 97675522274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the 9-digit number 98x46287y is divisible by 72, then what is the value of (2x +v)?
Options :

1% 11

) # 14

3 ® 17

4.« 18



Question Number : 46 Question Id : 97675522274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg 9-3/ Fr v TEIT 98x46287y, 72 T faem=w g, A (2x + y) T AT FIT gEM?
Options :
L 11

) % 14

3 % 17

4.v 18

Question Number : 47 Question Id : 97675522275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let x = 55100+ 55101 + 55102 « js NOT divisible by:
Options :

. % 3

2.¥

Question Number : 47 Question Id : 97675522275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A ofew & x = 55100 + 55101 4+ 55102 & x r=fof@a 7 o Gy Farsa 78 27

Options :
1% 3

2.v 7
3 % 13
4. % 719

Question Number : 48 Question Id : 97675522276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The value of 52 + 81+ 36 of 2 — {45 — (19-22) x 5} + (42 + 5 0of 7) is:

Options :



Question Number : 48 Question Id : 97675522276 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

52 + 81+ 36 of 2 - {45 - (19 - 22) x 5} + (42 + 5 of 7) T HIeT FAT EEM?

Options :

Question Number : 49 Question Id : 97675522277 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(1.5)% +(z.4)* + (3.6)2 s
9x[(0.8)24(0.5)2 [41.5x2.4

The value of

Options :
1 % Is less than 4

o % lies between 4 and 4.2

3 % lies between 4.2 and 4.4

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4 « lies between 4.4 and 4.6

Question Number : 49 Question Id : 97675522277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1.5)% +(2.4)* + (3.6)%

9 x [(0.2)2+ (0.5)2 |+1L5 x 2.4 FT AT F4T grem?

Options :
| = 4 T &

% 4 3T 42 % &=
; % 4.2 3R 4.4 F §=

4 v 4.4 3T 46 F T

Question Number : 50 Question Id : 97675522278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The expenditure of Shobhita is 125% more than her savings. If her income increases by 20% and savings increase by

40%, then bye what percent is her expenditure increased?
Options :

1119"
1.¢v 9 :

> % 10%



3 % 12%

162':}"
4% 37

Question Number : 50 Question Id : 97675522278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MTITT T =T FTH TIT W 125% 30 g1 I 3T 3T H 20% Hr s g g v s=a 7
40% Fr FSrad BT 8, O 38 =97 F g gfoea & seieadr e

Options :

1119"
1.¢v 9 :

> % 10%

3 % 12%

162':}"
4% 37

Question Number : 51 Question Id : 97675522279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The incomes of A and B are in the ratio 4 : 5 and their expenditures are in the ratio 6 ;: 7. If A and B save ¥ 10,000 and

2 16.000, respectively, then what is the difference (in ¥) between their expenditures?

Options :



Question Number : 51 Question Id : 97675522279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR B#F AT 4 :5F 39d A ¢ HR 37 57T 6 1 7 F 39 H gl I A 3R B FAU«: 2
10,000 31T 3 16,000 Fr 5917 FI3 &, aF 3¢ =T & &7 Fa=w 30T (2 #) geme?

Options :

| = 6,000

, x 6,500
, v 7,000

, = 7,500

Question Number : 52 Question Id : 97675522280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asum of ¥ 10,000 is lent at 20% p.a compound interest, compounded yearly. What is the difference (in Z) between

~nd

the compound interest for the 2™ year and the 3rd

year?



Options :
1 % 240

5 % 360

4 % 600

Question Number : 52 Question Id : 97675522280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z 10,000 #r o=-TRY 20% H WS TWhgieg SOH W 3UR &7 ATl g, HHR a1 &l 0T Jies &
H g g1 gAY ¥ R e ¥ & wRgfe S & A= fhaer R (2 A) B2

Options :
| % 240

5 % 360
s v 480

4 % 600

Question Number : 53 Question Id : 97675522281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The marked price of an article is 2 600. It is sold for ¥ 387.60 after giving three successive discounts of 20%, X% and

15% on its marked price. What will be the selling price, if a single discount of 5x% is given on the marked price?



Options :
1 % 420

) & T450

3 # 492

Question Number : 53 Question Id : 97675522281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TFG 1 Hihd Hod 7 600 g1 38 $EF e AT W 20%, x% HRX 15% @ diF HAe g & &
aTg T 387.60 & = STaw g1 IR 1T Azw W 5x% # vHha e & T, @ e Few Faw gan?

Options :
| % T 420

5« T 450
3 % % 492

4. % T 510

Question Number : 54 Question Id : 97675522282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The average weight of 54 persons in a club is 65 kg. If 24 persons of average weight of 57 kg leave and at the same
time, 10 persons of average weight of 62 kg join the club, then the average weight (in kg) of the persons in the club
increases by:

Options :

| ® 3.85

) w4
3 « 4.05
4 % 4.1

Question Number : 54 Question Id : 97675522282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Fod ¥ 54 cafFaar #r 3aT ST 65 kg £ T 57 kg F 3itoa a7 Trer 24 =@fET T2 ¥ v @y
T AT g RN TET R kg IR I 0 caRT e H aEERE @ e g T FeE H
afFaar F AEa 97 (kg H) Baar s Fmeem?

Options :
| % 3.85
2. ® 4

s v 4.05

4. % 4.1



Question Number : 55 Question Id : 97675522283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A can do a certain work in 24 days. B is 20% more efficient than A and C is 20% less efficient than B. C starts work

and leaves after 3 days. A and B will complete the remaining work in:
Options :

2
8-d
% 53 ays

2
8-d
% 5

93(:1
== 4ays
3. 5 4

1
9-d
4% 30

Question Number : 55 Question Id : 97675522283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Tt @faa & @1 24 G & &7 Foa1 81 B, A & 20% e fqor g 3 C, B & 20% &/
90T 81 C 1 3R LT § AR 3 R % 916 oiF & Tow 1 g1 A 3R B oW F &1 foaw A
H QT FHE?

Options :

2
sgﬁ?r

1. #



2
sgﬁ?r

2. %

9§ﬁ?r

3.4 5

1
9§ﬁ?r

4, %

Question Number : 56 Question Id : 97675522284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the speed of car is increased by 28%, it takes 14 minutes less to cover the same distance. What time will it take
to cover the same distance with its original speed?
Options :
1 % 1 hour 10 minutes

> % 1 hour 8 minutes
3 % | hour 6 minutes

4 « 1 hour 4 minutes

Question Number : 56 Question Id : 97675522284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST HR Fr AT H 28% HT gig FT ST §, A 9€ FAT g0 H aF A 7 14 Fae w7 77 A4 g
3 g T 3H AEATE A H T F H 3 [hde THIT FTIE?




Options :

| = 1 e 10 fA=e
, % 1 ®er 8 e
; % 1 9er 6 Aae

4 v 19T 4 Tee

Question Number : 57 Question Id : 97675522285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a right circular cone is 616 cm® and its height is 12 em. The curved surface area (in cm? ) of the cone

is(Take m = 1—2}

Options :

1 ® 117193
2. v 227193
3. % 117195
\ 224158

Question Number : 57 Question Id : 97675522285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UHh I Jedld AF H ’AAS 616 cm® § AR ST FAS 12 em §l UF F T TOT a1 (cm?
H) FT @9m? (n =2 A=)

7
Options :

L+ 11VI03
2. v 227193
3. % 117195
\ » 22105

Question Number : 58 Question Id : 97675522286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hemispherical shaped bowl of internal radius 18 cm is full of a syrup. This syrup is to be filled into cylindrical

shaped bottles each of radius 6 cm and height 12 cm. How many such bottles are required to empty the bowl?
Options :

1. % 6
2. 9

3 0% 12

4 % 18

Question Number : 58 Question Id : 97675522286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

18 cm 3TN THS2T JTel Tk 3-ENeThR HERT TR0 § 817 g3 €1 8 TR0 & SoldlR Sidell
T FT g, o H T T 8® Hr =31 6 cm 3T F1E 12 cm g1 FAT F T A & o ol Saer
STdell Sl HTTTSHAT 2rEi?

Options :
1. % 6

2. ¢ 9
L% 12

L % 18

Question Number : 59 Question Id : 97675522287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the following graph and answer the question.

Percent profit earned by five companies
(A, B, C, D and E) during 2019 and 2020
Percent Profit = (income — expenditure)/expenditurex 100
70
60
k. 55
50 - 50
L
éﬂ 20 - —+— 2020
= o
S 30 30 2 #2019
a
20
10
0 T . : . .
A B C b E
Company

Income of a company C in 2020 was T 72.5 crores. What was the profit (in T crores) earned by that company in that
year?

Options :

| % 12.5

) o 22.5

3 % 17.5

4 % 27.5

Question Number : 59 Question Id : 97675522287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

rafaf@a e 1 3egga &Y 3R 7T F7 31 &)

2019 3R 2020 & &= dig Huf==TE (o, B, ¢, 0 3RE)
carr Afoia uidwa e
gfderd o= (319 — 09/ 209 x 100

70
55
60 o] 50 =
i 45 =K
40 __.-"qﬂ
40 ﬁ’/w\ P 35
e — C—— —— 2020
30 —
—4— 2019
20
10
0 :
A B C D E

2020 H UH HAT C Fr AT 2 72.5 T off, 37 IV 3T FUAT I HAAd o (FF T H) dar ar?
Options :
% 125
, v 225
3 % 17.5

4 % 275

Question Number : 60 Question Id : 97675522288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the following table and answer the question.

Number of students enrolled for vocational courses in institutes A, B, C and D in yvears 2015 to 2019

Year— | 2015 | 2016 | 2017 | 2018 | 2019
Institute
A 142 | 135 | 1538 | 140 | 143
B 140 | 145 | 142 | 135 | 130
C 138 | 150 | 152 | 147 | 133
D 150 | 140 | 135 | 138 | 145

The average number of students (per vear) enrolled in institute B in 2016, 2017 and 2019 is what percent of the total
number of students enrolled in institute A in 2015 and 2017?

(correct to one decimal place)?
Options :

1.« 46.3%

) % 45.8%

3 % 48.2%

4 % 49.6%

Question Number : 60 Question Id : 97675522288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fa=faf@a afes &1 sevas 1 3k 358 g9fT vt F 3031 &

¥ 2015 ¥ 2019 dF TEAUET A, B, C 3k D & cursw¥s resasal & v amifera feafdat Hr
&

. 2015 | 2016 | 2017 | 2018 | 2019
el
A 142 | 135 | 158 | 140 | 143
B 140 | 145 | 142 | 135 | 130
¢ 138 | 150 | 152 | 147 | 133
D 150 | 140 [ 155 [ 138 [ 145

2016, 2017 3T 2019 F FTU=T B # amfea efdat (wfy a¥) Fr silwa g=ar, 2015 3k 2017 &
TEAH A F AR Reanfiat & o g & e s 82

(GUHTT F TG TH T TF TaT)
Options :
| v 46.3%

5 % 45.8%
3 % 48.2%

4 % 49.6%
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Question Number : 61 Question Id : 97675522289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

Vicky finally received a reply on the letter he had written weeks before.
Options :

1. * received

2. % a

3. % on

4. % before



Question Number : 61 Question Id : 97675522289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

Vicky finally received a reply on the letter he had written weeks before.
Options :

1. * received

2.% a

3. % on

4. % before

Question Number : 62 Question Id : 97675522290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

and clapped (P) / the children (Q) / their hands in joy (R) / sang songs (S)
Options :

1. * SPQR

2. % QRSP

3. % QSPR

4. % SRPQ

Question Number : 62 Question Id : 97675522290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

and clapped (P) / the children (Q) / their hands in joy (R) / sang songs (S)
Options :

1. ¥ SPQR

2. % QRSP



3. ¢ QSPR
4. % SRPQ

Question Number : 63 Question Id : 97675522291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Neither the manager / nor his assistants / was able / to solve the problem.
Options :

1. # Neither the manager

2. % nor his assistants

3. ¥ was able

4. # to solve the problem

Question Number : 63 Question Id : 97675522291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Neither the manager / nor his assistants / was able / to solve the problem.
Options :

1. % Neither the manager

2. * nor his assistants

3. ¥ was able

4. % to solve the problem

Question Number : 64 Question Id : 97675522292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the SYNONYM of the given word.

Viable



Options :

1. ¥ workable
2. # impossible
3. % difficult

4. % unworkable

Question Number : 64 Question Id : 97675522292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the SYNONYM of the given word.

Viable

Options :

1. ¥ workable
2. # impossible
3. % difficult

4. % ynworkable

Question Number : 65 Question Id : 97675522293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blanks.

It is not to charge such high for a small distance.
Options :

1. * fair; fair

2. % fare; fair

3. ¥ fair; fare

4. % fare; fare

Question Number : 65 Question Id : 97675522293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is appropriate for the blanks.

It is not to charge such high for a small distance.
Options :

1. ®* fair; fair

2. % fare; fair

3. ¥ fair; fare

4. ® fare; fare

Question Number : 66 Question Id : 97675522294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the CORRECT meaning of the underlined idiom.

My father’s decision to move to a big city was like jumping out of the frying pan into the fire.

Options :

1. #* leaving a small town

2. % living in a big city

3. % going from bad to worse

4. # Dbelieving that all will be fine

Question Number : 66 Question Id : 97675522294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the CORRECT meaning of the underlined idiom.

My father’s decision to move to a big city was like jumping out of the frying pan into the fire.

Options :

1. # leaving a small town

2. % living in a big city

3. % going from bad to worse

4. # believing that all will be fine



Question Number : 67 Question Id : 97675522295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill in the blanks.

Even though the competition is tough, our team is of winning the contract.
Options :

1. % diffident

2. % confident

3. # insistent

4. ® efficient

Question Number : 67 Question Id : 97675522295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill in the blanks.

Even though the competition is tough, our team is of winning the contract.
Options :

1. # diffident

2. % confident

3. * insistent

4. # efficient

Question Number : 68 Question Id : 97675522296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The parts of a sentence have been jumbled and labelled as P, Q, R, S. Rearrange the jumbled parts to form a meaningful sentence.

to go to the market (P) / why my sister refused (Q) / I wish (R ) /I knew (S)
Options :

1. ¥ RSQP

2. % SRPQ



3. % PQSR
4. % QRSP

Question Number : 68 Question Id : 97675522296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The parts of a sentence have been jumbled and labelled as P, Q, R, S. Rearrange the jumbled parts to form a meaningful sentence.

to go to the market (P) / why my sister refused (Q) / I wish (R ) /I knew (S)
Options :

1. ¥ RSQP

2. % SRPQ

3. % PQSR

4. % QRSP

Question Number : 69 Question Id : 97675522297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the HOMONYM with the meanings ‘sloping land’ and ‘a pile’
Options :

1. ¥ Bank

2. % Tank

3. # Rank

4. % Rack

Question Number : 69 Question Id : 97675522297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is the HOMONYM with the meanings ‘sloping land’ and ‘a pile’
Options :

1. ¥ Bank

2. # Tank



3. # Rank
4. % Rack

Question Number : 70 Question Id : 97675522298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the UNDERLINED idiom in the given sentence.

Mr. Ram Prasad was above all a singer.
Options :

1. ¥ Chiefly

2. % Briefly

3. % Safely

4. % Rarely

Question Number : 70 Question Id : 97675522298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the UNDERLINED idiom in the given sentence.

Mr. Ram Prasad was above all a singer.
Options :

1. ¥ Chiefly

2. % Briefly

3. % Safely

4. % Rarely

Question Number : 71 Question Id : 97675522299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

A voice which cannot be heard.



Options :

1. ¥ Inaudible
2. # Audible
3. % Incredible
4. * Indelible

Question Number : 71 Question Id : 97675522299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

A voice which cannot be heard.
Options :

1. ¥ Inaudible

2. % Audible

3. % Incredible

4. # Indelible

Question Number : 72 Question Id : 97675522300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

One who hates mankind.
Options :

1. # Spiteful

2. % Misanthrope

3. % Benevolent

4. % Humanitarian

Question Number : 72 Question Id : 97675522300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate one-word substitution for the given group of words.

One who hates mankind.
Options :

1. # Spiteful

2. ¥ Misanthrope

3. % Benevolent

4. % Humanitarian

Question Number : 73 Question Id : 97675522301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following sentence is divided into four parts. Identify the part that has an error in it.

I am studying this book / since 9 o’clock / in the morning / and I am about to finish.
Options :

1. ¥ T am studying this book

2. % since 9 0’ clock

3. # in the morning

4, % and [ am about to finish.

Question Number : 73 Question Id : 97675522301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following sentence is divided into four parts. Identify the part that has an error in it.

I am studying this book / since 9 o’clock / in the morning / and I am about to finish.
Options :

1. ¥ I am studying this book

2. % since 9 0’ clock

3. # in the morning

4. % and [ am about to finish.



Question Number : 74 Question Id : 97675522302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the grammatically CORRECT option from the four choices given below.

Options :

1. # Guru is like a lamp in the desert therefore he dispels the darkness from the lives of the ignorant.
2. ¥ Guru is like a lamp in the desert because he dispels the darkness from the lives of the ignorant.
3. # Guru is like a lamp in the desert but he dispels the darkness from the lives of the ignorant.

4. % Guru is like a lamp in the desert however he dispels the darkness from the lives of the ignorant.

Question Number : 74 Question Id : 97675522302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the grammatically CORRECT option from the four choices given below.

Options :

1. # Guru is like a lamp in the desert therefore he dispels the darkness from the lives of the ignorant.
2. ¥ Guru is like a lamp in the desert because he dispels the darkness from the lives of the ignorant.
3. % Guru is like a lamp in the desert but he dispels the darkness from the lives of the ignorant.

4. ® Guru is like a lamp in the desert however he dispels the darkness from the lives of the ignorant.

Question Number : 75 Question Id : 97675522303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

She an answer from the employer soon.
Options :

1. # Accepted

2. ¥ Expected

3. % Excepted

4. % Effected



Question Number : 75 Question Id : 97675522303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank by choosing the most appropriate option.

She an answer from the employer soon.
Options :

1. * Accepted

2. ¥ Expected

3. % Excepted

4. % Effected

Sub-Section Number : 2
Sub-Section Id : 9767551415
Question Shuffling Allowed : Yes

Question Id : 97675522304 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Short for electronic book, an eBook or e-book is a book published in an electronic format. A reader can instantly access an eBook by
downloading it over the Internet. It can be read on the computer, e-reader, smartphone, or tablet and is published in different file formats, like
plain text, PDF, Rich Text Format, as image files, and others.

eBooks have many advantages. They are easy to read because it is possible to jump to specific pages, search for specific words, hyperlink related
information, or view page lists on the side. Additionally, eBooks include multimedia, such as audio or video, or interactive supplements to the
text. Moreover, eBooks are better for the environment because they do not use paper. Another advantage is that eBooks are stored electronically,
so people can store a large number of books on a single device.

In many ways eBooks are not the same as printed books. While one can just hold and comfortably read a printed book if there is sufficient natural
light, eBooks are read on electronic devices with batteries and a built-in light. Another important difference is in note taking- one can make very
limited notes on the page margins while using the printed book but eBooks allow readers to write unlimited comments, modify them any number
of times and also delete them at any point in time. E-books are usually less expensive than their paper counterparts and come with font flexibility,
making reading easier.

Although it seems that eBooks enjoy more advantages over printed books, for many readers the feeling of holding a book and the smell of real
paper can never be replaced. Printed books also have some unique points in their favour. One, dryness of the eyes as well as eye strain is reduced
to a great extent and two, the reader absorbs more information. Finally, the reader is less likely to get distracted. Research has shown that digital
readers or readers of eBooks tend to spend more time scanning for keywords than actually processing what they’re reading.

Sub questions



Question Number : 76 Question Id : 97675522305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, eBooks are available in:
Options :

1. ¥ a variety of file formats.

2. % in all libraries.

3. ® at avery low cost.

4. % 3l electronic devices.

Question Number : 77 Question Id : 97675522306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, many readers think eBooks are better than printed books because:
Options :

1. # they have an attractive smell.

2. % they are more expensive.

3. ¥ the font size can be adjusted to make reading easier.

4. ® only a limited number of eBooks are available.

Question Number : 78 Question Id : 97675522307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, note taking on eBooks is better because the reader can:
Options :

1. ® write a lot of notes only on the page margins.

2. ¥ make, modify or delete comments any number of times.

3. # scan for keywords easily and not waste time searching for information.

4. ® Jook at the video clips and hyperlink all relevant information.

Question Number : 79 Question Id : 97675522308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

One advantage of eBooks that has NOT been mentioned in the passage is that:
Options :

1. # people can look for specific information.

2. % they reduce eye strain.

3. * many books can be stored in one device.

4. ¥ a person can share the eBook contents with other users.

Question Number : 80 Question Id : 97675522309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, many readers prefer to read a printed book as it:
Options :

1. ¥ is less distracting and one can absorb more information.

2. % does not cause dryness of the eyes but is very difficult to process.

3. % is less expensive but has too many pages .

4. % has a built-in light that makes the reader feel comfortable.

Question Id : 97675522304 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

Short for electronic book, an eBook or e-book is a book published in an electronic format. A reader can instantly access an eBook by
downloading it over the Internet. It can be read on the computer, e-reader, smartphone, or tablet and is published in different file formats, like
plain text, PDF, Rich Text Format, as image files, and others.

eBooks have many advantages. They are easy to read because it is possible to jump to specific pages, search for specific words, hyperlink related
information, or view page lists on the side. Additionally, eBooks include multimedia, such as audio or video, or interactive supplements to the
text. Moreover, eBooks are better for the environment because they do not use paper. Another advantage is that eBooks are stored electronically,
so people can store a large number of books on a single device.

In many ways eBooks are not the same as printed books. While one can just hold and comfortably read a printed book if there is sufficient natural
light, eBooks are read on electronic devices with batteries and a built-in light. Another important difference is in note taking- one can make very
limited notes on the page margins while using the printed book but eBooks allow readers to write unlimited comments, modify them any number
of times and also delete them at any point in time. E-books are usually less expensive than their paper counterparts and come with font flexibility,
making reading easier.



Although it seems that eBooks enjoy more advantages over printed books, for many readers the feeling of holding a book and the smell of real
paper can never be replaced. Printed books also have some unique points in their favour. One, dryness of the eyes as well as eye strain is reduced
to a great extent and two, the reader absorbs more information. Finally, the reader is less likely to get distracted. Research has shown that digital
readers or readers of eBooks tend to spend more time scanning for keywords than actually processing what they’re reading.

Sub questions

Question Number : 76 Question Id : 97675522305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, eBooks are available in:
Options :

1. ¥ a variety of file formats.

2. # in all libraries.

3. % atavery low cost.

4. % all electronic devices.

Question Number : 77 Question Id : 97675522306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, many readers think eBooks are better than printed books because:
Options :

1. #* they have an attractive smell.

2. % they are more expensive.

3. ¥ the font size can be adjusted to make reading easier.

4. % only a limited number of eBooks are available.

Question Number : 78 Question Id : 97675522307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, note taking on eBooks is better because the reader can:
Options :

1. #* write a lot of notes only on the page margins.

2. ¥ make, modify or delete comments any number of times.



3. % scan for keywords easily and not waste time searching for information.

4. # Jook at the video clips and hyperlink all relevant information.

Question Number : 79 Question Id : 97675522308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One advantage of eBooks that has NOT been mentioned in the passage is that:
Options :

1. #® people can look for specific information.

2. % they reduce eye strain.

3. # many books can be stored in one device.

4. ¥ aperson can share the eBook contents with other users.

Question Number : 80 Question Id : 97675522309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, many readers prefer to read a printed book as it:
Options :

1. ¥ is less distracting and one can absorb more information.

2. % does not cause dryness of the eyes but is very difficult to process.

3. # is less expensive but has too many pages .

4. # has a built-in light that makes the reader feel comfortable.
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Question Number : 81 Question Id : 97675522310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P ohepT vaigar 82

Options :

1. % dIg

2. 3

3. % d[0]

4. % foorell

Question Number : 81 Question Id : 97675522310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H T gafgard g2

Options :




1. % 91
2. ¢ 3
3, % goy
4. % fgoreit

Question Number : 82 Question Id : 97675522311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fara o1 fadim <reg B w182
Options :

1. ¢ ST

2. % SN

3. % TAETTHt

4. % ZHeEHl

Question Number : 82 Question Id : 97675522311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faTra &1 faee TTea & A1 82
Options :

1. ¢ 3MTH

2. % JTHI

3. % AT

4. % SedTe

Question Number : 83 Question Id : 97675522312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y frge! faam s
Options :

1. % 9y



2. ¢ Y
3. % gy
4. % TRY

Question Number : 83 Question Id : 97675522312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y T faam wes 32

Options :

1. % 9§

2. ¥ Y

3. % gy

4. % TRy

Question Number : 84 Question Id : 97675522313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T PR AT GTar BT Fat 31 F1 52
Options :

1. % ghd M

2. % 3B gHI

3. ¢ TS $R &A1

4. % AT &l

Question Number : 84 Question Id : 97675522313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B ST TR o1 Tl 31 1 82
Options :

1. % Ghdl gl

2. % 3B Gl




3.« TS B T
4. % AT ST

Question Number : 85 Question Id : 97675522314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B 9 WA & Aol T Sugad 31 F1 g2
Options :

1. % JfaHT 99 $3 il §

2. ¢ 19 PO AT S

3. % Td UG $ IR AT 8

4. % 9 Y U9 HAMT

Question Number : 85 Question Id : 97675522314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th P19 WA g ADITad BT Iugad 31 F1 g2
Options :

1. # YAy 99 3 Pl o

2. ¢ U6 $B BT §

3. % qe UG P IR Gl 3

4. % Q99 Y U1 HAMT

Question Number : 86 Question Id : 97675522315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el & IR FHar GeTaR &1 Het 31 S A1 g2
Options :

1. % AgATpiel g

2. % AP UG gl

3. % Bl & TSI D gl




4. ¥ AT B B B gl

Question Number : 86 Question Id : 97675522315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i & R AFHTT GeTa &1 3 S A 82
Options :

1. % Agahiel g

2. % 3D UG gl

3. % JWHAdl o AoI41db gl

4. ¢ AT B & B ol

Question Number : 87 Question Id : 97675522316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faufa o T B O A1
T & ad RIF & e gaffie Sugad e H1H 182

Options :
1. ® dRar
2. % TR
3. ¢ Hlgd
4. % Tq

Question Number : 87 Question Id : 97675522316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foufr o Y HTH ol 1|
T & Fad RIF & e aifie Sugad Seg 19 A1 82
Options :

1. ® gRdr



2. %
3. I8y
4. % Td

Question Number : 88 Question Id : 97675522317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TYH! AT & Ggid Pl g:8e AR T, T3 oy gl

et R & fore waifie 3fed Wsg 1 g
Options :

1. % D2

2. % QT

3. % 9

4. ¢ GdaT

Question Number : 88 Question Id : 97675522317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3! ATATST & <gid B g THTER T, ga 3o gl
e R & fore waifie 3fed Wsg 1 i

Options :
1. % DU
2. % dl
3. % daHl
4.« Gl

Question Number : 89 Question Id : 97675522318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T H BT TY e B |



qTag & Yifdrd Xsg o [ Weg § Ui foran S wehdt 82
Options :

1. ¢ 3THR

2. % fo

3. % TRR

4. ¥ dq

Question Number : 89 Question Id : 97675522318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H5HI T Y M 8|

I & YWifdhd Xeq P [y Usg § Ui faram o bt /2
Options :

1. ¢ 3HR

2. % T

3. % IRR

4. % P

Question Number : 90 Question Id : 97675522319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty BT HE HY-fowg |1 E?
Options :

1. % T+ AN

2. % I+ AN

3. 9+ a

4. % g+ AN

Question Number : 90 Question Id : 97675522319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FA BT et AY-fowg | E?
Options :

1. % 9+

2. % I+ AN

3. g+ Ay

4. % O +qY

Question Number : 91 Question Id : 97675522320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fya o1 aE IR-Ae w e
Options :

1. ¢ [+ 9

2. % 4+ 9d

3. % dl:+9d

4. % q+9d

Question Number : 91 Question Id : 97675522320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e o1 ag If-fowse =162
Options :

1. ¢+

2. % [+ 9d

3. % A+ Td

4, % Y+ T

Question Number : 92 Question Id : 97675522321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
@1 Ut |* 9T BT B B:

Options :

1. ¢ GH Hids

2. % GHTog Hid™

3. % ey aaHH

4. % Higw Yd

Question Number : 92 Question Id : 97675522321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
XGT YTt |* aTRT BT BT B:

Options :

1. ¢ Y Hiasg

2. % JHIG HidH

3. % i gaM

4. % FiGwy Yd

Question Number : 93 Question Id : 97675522322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 &F 1 a1 ‘SHar $T 3a6R 57
Options :

1. % 19 Qe Uel|

2. % =M A WRieH & T ok ST g |

3. « HUST I Srar g

4, % 01 Y 3T a1 S|

Question Number : 93 Question Id : 97675522322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad 7 @ & 91 919 “HHar= BT IS8 572
Options :

1. % 19 Qe Uel|

2. % AT M WG & T TOIR ST 8 |

3. ¢ HUST Ry Srar g |

4. % I W IT ol ord|

Question Number : 94 Question Id : 97675522323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAR f3erer 8§ SIS Iedifed Ui 781 oM | a1 o fovd SfRT H 3 82
Options :

1. % gHR faermeg |

2. ¥ HIS gD

3. % UfAPI

4. % Ig¥ 3Tl |

Question Number : 94 Question Id : 97675522323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR faee ¥ ®1s Iwifed UAd! Tal Sl | e & forg sir # 3fe 77
Options :

1. % gHAR faemey d

2. ¢ DI gD

3. % UfApI

4. % g1 3|

Question Number : 95 Question Id : 97675522324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ool - T ®I &l IR Afedl AT a1ed & [y o # Jie 52



Options :

1. % dol =

2. % T Pl

3. % QAR

4, ¥ AT AR

Question Number : 95 Question Id : 97675522324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tep A 1fid &1 g1 IR AfSaT YA I” a1 & [y S H Ffe g2

Options :

1. % Uhol A

2. % Tid B

3. % ER

4. qfsar g

Sub-Section Number : 2

Sub-Section Id : 9767551417
Question Shuffling Allowed : Yes

Question Id : 97675522325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRI 1 YA Ug 31 T T4 Uil 7 It SaR S |

ifeAfa & Tt H qRIdbTerd o1 R Hg@yul § | 390 gRT A1 & Sfia= &1 e, gy 3R ifiyag gt § | JRadhlerd Jugdl &1 SitdT -
STRTA 71418 & | 3% 9 TR IHM HRA B 304 37ciid TRd WR T4 & | TRIwTad HRd & ot $ig 74 axg T8l & | it & SfaspR & ot
d%h AN FARAR G &1 AU & 38 ¢ | U8d Ty, faane iR JuTerd 39 W98! & U RIM g1d 31 37 sifalad, fagermi & o=
ol g Ht 81d | GEurdha & AR ¥ Jd G| &l U BT 3ol d B dRg 9xd a1d = Y| Mol ayRor fufd &
gD H foTa-T it TTd! g, Sa-1 3 faml & - Bt T Tad B qaRt § T ST St At | R & JRadbiad SR WX H SO
I el T@d Y| Ui bTet | 7ol — el & 0 db Jet fRUfd T&t | <, BRE uyfa YefRRua 3 @ s - & - s faargrmi ot
IMETE dHRh YR T Hd A

Sub questions




Question Number : 96 Question Id : 97675522326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TN I AN FARER ah| T AU Y B UTd &7
Options :

1. % Il & gRI

2. % QDAY 4

3. ¢ Tl & sfaspR &

4. % a6 g1

Question Number : 97 Question Id : 97675522327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QRADHTAT! & HIRUT HRA B T 7RG U T2

Options :

1. % QRaoprerdl § Tl &7 1Ra Tl

2. ¢ IGRIRUA <=M 3 fAIRIT, YRGS QedebTadl o URIfG o BRI YRd ST dd |
3. % IRfAD SfiaH BT & BT 7IRa Threrar ol

4. % QWIPIAl Dl T H SNglg =T ol

Question Number : 98 Question Id : 97675522328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qb + 3MTeT = QI - I8 fobd Tf¥l BT Iaevur 82
Options :

1. g WR

2. % T[0T TR GY

3. % gfg WY

4. % JUI TR Y

Question Number : 99 Question Id : 97675522329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T Ugad <G Meg BT gl o o g2
Options :

1. % o

2. % M

3. % (=

4.¥ qA

Question Number : 100 Question Id : 97675522330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ERRIBIEERRUEARIE LR N S
Options :

1. % QEIBIed ol Gl

2. ¢ THAHIAYT 3R URd

3. % giigafa

4. % g BT G

Question Id : 97675522325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR BT eOYd s Ug 3R 3T 7T Ui &1 gt SaR < |

Tifecdrafa & Tqreql H RAadbad &1 R Ag@yUi g | 3% gRT i & ol &1 &, I 3R 31fiag gidt 8 | TRash e T3dl &1 Siidl
STRTAT 71ATE €| §9% 9 UR I HIRd BT 30+ 3fciid 1Rd TR 7Td § | TRAbTad HRd & oY dis 10! a¥d -Tel o | o & snfashrR § arret
e N FARAOR JRAo! &1 U I I8 & | U8 qarad, faened $iR Jurerd 39 98! & T R gd 31 3% Hfafad, fagerl & oA
STt qedeprerd Ui 81d ¥ | GEUThel & MTDHR A Yd TXAdh| 1 U8 BT HThd B dRg IRd a1d 7 At | Sfeidha TR Rufd &
g § fora-t Fufy ardt g, Ia-t 37 il st - Faft v Toaes ot dart § & S Rt At | YR & RapTad TR WX H SO
I 81 T@d Y| U= ebTet | H7Tel — el & 7Y dob Igi RRUfd I8 | =1, BRE uyfd YeRRUd 3211 4 s — & — g faamgrmit ot
YTATE dHRh YR T Hd A |

Sub questions




Question Number : 96 Question Id : 97675522326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TN I AN FARER ah| T AU Y B UTd &7
Options :

1. % Il & gRI

2. % QDAY 4

3. ¢ Tl & sfaspR &

4. % a6 g1

Question Number : 97 Question Id : 97675522327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QRADHTAT! & HIRUT HRA B T 7RG U T2

Options :

1. % QRaoprerdl § Tl &7 1Ra Tl

2. ¢ IGRIRUA <=M 3 fAIRIT, YRGS QedebTadl o URIfG o BRI YRd ST dd |
3. % IRfAD SfiaH BT & BT 7IRa Threrar ol

4. % QWIPIAl Dl T H SNglg =T ol

Question Number : 98 Question Id : 97675522328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qb + 3MTeT = QI - I8 fobd Tf¥l BT Iaevur 82
Options :

1. g WR

2. % T[0T TR GY

3. % gfg WY

4. % JUI TR Y

Question Number : 99 Question Id : 97675522329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T Ugad <G Meg BT gl o o g2
Options :

1. % o

2. % Y

3. % (=

4.¥ qA

Question Number : 100 Question Id : 97675522330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TR HT Iferd 2N &
Options :

1. % QEIBIed ol Gl

2. ¢ THAHIAYT 3R URd

3. % gt
4. % Hifged b1 Qe

Disciplinel
Group Number : 6
Group Id : 976755787
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Disciplinel

Section Id : 9767551217
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551418
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675522331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
number of disabilities are defined in RPWD Act 2016.
Options :
1. * 7
2. % 16
3.9 21
4. % 4

Question Number : 101 Question Id : 97675522331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RPWD Sf8fH 2016 | UHR B! [admairarsi & aRyia fear m gl
Options :

1. * 7

2. % 16

3.¥21

4. % 4




Question Number : 102 Question Id : 97675522332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The full form of ADHD is:

Options :

1. ¥ Attention Deficit Hyperactivity Disorder
2. # Attention Deficit Hyperactive Disability

3. # Attention Disorder Hyperactive Disorder
4. ® Autism Disorder Hyperactive Disability

Question Number : 102 Question Id : 97675522332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T.31.U9.3. (ADHD) &1 JUf =Y FT g2
Options :

1. ¢ 3T ShRiC gRIRTfCd feqsiier

2. % 3T ShRe greuRUfdea fequfaferdt
3. % 3T fegaiier gleuRufded fsusiiar

4. ® 3fffesH fEgaiist gemRufdea feaufaferd

Question Number : 103 Question Id : 97675522333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average intelligence range is:
Options :

1. % 70-90

2. % 90-110

3. % 130 and above

4. # 70 and below

Question Number : 103 Question Id : 97675522333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3T U IR (3eferoig 3) gl
Options :

1. % 70-90

2.9 90-110

3. % 130 3R ITY 3P

4. % 70 3R ITY HH

Question Number : 104 Question Id : 97675522334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the thin membrane between the outer ear and middle ear.
Options :

1. ¥ Ear Drum

2. % Cochlea

3. % Anvil

4. % Stapes

Question Number : 104 Question Id : 97675522334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B 3R A B & oiid B} udal fareat Pl =19 Fad |
Options :

1. ¢ HUUCE (FTRSH)

2. ® UG (PITaedT)

3. % U

4. % WU

Question Number : 105 Question Id : 97675522335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The full form of TLM is:

Options :

1. # Teaching Leading Material

2. ¥ Teaching Learning Material

3. # Teachers Learning Material

4. % Teaching Learning Model

Question Number : 105 Question Id : 97675522335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A ua.TH. (TLM) &1 quf =0 Fa1 82
Options :

1. % SR diféT HeRad

2. ¢ it A1 gefaa

3. % S99 At gefaa

4. % AR A Atsa

Question Number : 106 Question Id : 97675522336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The full form of IEP is:

Options :

1. ¢ Individualized Educational Programme
2. # Important Education Programme

3. # Integrated Education Programme

4. ® Inclusive Educational Programme

Question Number : 106 Question Id : 97675522336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3e 3.1, (1EP) &1 quf ST & 32



Options :

1. ¢ SfEfagerdsse b UiH
2. % FI¢C Uh M YU

3. % 3feUCE TIHRH U™

4. % SHIRIG TH R THITH

Question Number : 107 Question Id : 97675522337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Down Syndrome means:

Options :

1. # Frigile X syndrome

2. ¥ Trisomy 21 syndrome

3. # Klinfelter syndrome XXY

4. ® Turner syndrome X0

Question Number : 107 Question Id : 97675522337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 Jaeun (Rig) & 37 gl

Options :

1. % fipoiTge X Gagmn

2.  RURET (g2t - 21 FA&for
3. % TS Thee’ A& XXY

4. % TR GAL X0

Question Number : 108 Question Id : 97675522338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are pairs of chromosoms in Human.
Options :



1. #® 46
2.% 2
3.9 23
4, % 28

Question Number : 108 Question Id : 97675522338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H1a § TURET & g B 5l
Options :

1. % 46

2. %2

3.9 23

4, % 28

Question Number : 109 Question Id : 97675522339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Autistic Spectrum disorder are a heterogeneous group of Neuro- Behavioural syndromes, characterized by difficulty in:
Options :

1. ¥ depelopment of social relationships and communication skills, limited or severely impaired imagination

2. # developmental delay

3. % delayed milestones

4. # physical development

Question Number : 109 Question Id : 97675522339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRE (3HfeRew) WaeH fawR, dRw-cadegR Jae (RRI-fSefaara RigH) &1 te fawrerdia wig g, foraewT aer gl

Options :

1. ¢ grATiors Feet 3R TR DI & faer # wfers, Wt a1 1k 0 I frst g8 seuifad



2. % fdpTE® fadd
3. % fodifad uRada
4. % IRING f[dbrg

Question Number : 110 Question Id : 97675522340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Braille slate is used by:

Options :

1. ¢ Visually Impaired persons

2. % Intellectual Disabled Person

3. # Hearing Impaired Person

4. % Orthopadecially Imapired

Question Number : 110 Question Id : 97675522340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Wie &1 I fAgfiad & § forgds gRT fosan S g2
Options :

1. ¢ EfPeTid il

2. % qifg® e safad

3. % §gY oAl

4. % IR famalinT

Question Number : 111 Question Id : 97675522341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In National Trust Act 1999 number of Disabilities are specified.
Options :

1.%9

2. % 7



3. % 2]
4.9 4

Question Number : 111 Question Id : 97675522341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST =T ST 1999 H R (Disabilities) FMfEE 71
Options :

1. %9

2.% 7

3. % 21

4. ¥ 4

Question Number : 112 Question Id : 97675522342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to RPWD Act 2016, no person will be deprived of his or her personal liberty only on the ground of
Options :

1. ¥ Disability

2. % Creed

3. * Cast

4. * Financial status

Question Number : 112 Question Id : 97675522342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RPWD TT 2016 & 3ER, fardt 1t suifad bl dhad & YR TR D! AfadiTd WazAdl ¥ dfad el fobar s
Options :

1. ¢ fapetimd

2. % YT A (Creed)

3. = Gm%f(Cast)



4. % e fRUfa

Question Number : 113 Question Id : 97675522343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to RPWD Act “Person with benchmark Disability” means a person with:
Options :

1. # not less than ten percent of specified disability

2. ¥ not less than forty percent of specified disability

3. # not less than sixty percent of specified disability

4. ® not less than hundred percent of specified disability

Question Number : 113 Question Id : 97675522343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RPWD ST & SR "deHe fAdaraia afaa w13 afaa gl
Options :

1. ® $H Y A o4 ufazd [y fawairdr arer

2. ¢ HU Y HY 1oy ufawrd Ay fawaimar aren

3. % P Y HH U1 ufawrd Ay faewammar arar

4. % HA Y HA O ufaerd Ay R arar

Question Number : 114 Question Id : 97675522344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Hearing Impaired Children educational options should have in its standard and should be in every part of the country.
Options :

1. ¥ uniformaity; available

2. ® varation; available

3. # uniformaity; unavailable

4. % varation; unavailable



Question Number : 114 Question Id : 97675522344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ%ﬁﬁwﬁwﬁ%wﬁ g =18 3R 75 30 /e H gl =1fe 3R 78 <x & & fo e | gt
|

Options :

1. ¢ U= udl; U
2. % fafqedr, Iuasy

3. % ThwUdl; SiJudsy
4. % fafqedT; Srudsy

Question Number : 115 Question Id : 97675522345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hearing Impairment “deaf” means person having hearing loss in speech frequencies in both ears.
Options :

1. ¥ 100 DB

2. % 40 DB

3. % 60 DB

4. % 70DB

Question Number : 115 Question Id : 97675522345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI "IRR" &7 o § fob =afdd & g i | arep gl # Q0T ST G |
Options :

1. #* 100 DB

2. % 40 DB

3. ¥ 60 DB

4.+ 70 DB



Question Number : 116 Question Id : 97675522346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dwarfism means a medical or genetic condition resulting in an adult height of
Options :

1. # 5 feet or less

2. # 7 feet or more than 7 feet

3. % 4 feet 10 inches or less

4. % 5 feet 5 inches or above

Question Number : 116 Question Id : 97675522346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO (@A) 1 37 U Fafhciia a1 STIafRe Rl § o U oo &t daTs g gl
Options :

1. % 5Tplc U1 39 HH

2. % 717 BIC Y Hidd

3. ¢ 4TBIC 10 ST YT I HH

4. % 5TBIC 559 U1 39Y 3D

Question Number : 117 Question Id : 97675522347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rh incompatibility is one of the Cause of
Options :

1. ¥ mental retardation

2. # normal child

3. # premature delivery

4. ® miscarriage

Question Number : 117 Question Id : 97675522347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rh STl & PRUTH Y TH g
Options :

1. ¢ HHERID Hedl

2. % g & Y B

3. % gAY Y Ugd U¥d

4. % UG

Question Number : 118 Question Id : 97675522348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The age of mother plays an important role in the delivery of a and baby.

Options :

1. ¥ healthy; normal

2. % unhealthy; abnormal
3. * unhealthy; normal
4. # healthy; abnormal

Question Number : 118 Question Id : 97675522348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T I & S B Al BT 31 Heayqu! YT U g
Options :
1. & WO, JTH
2. & WYY, HUTHY
3. % WO, YH
4, % WGH; AHTHY

Question Number : 119 Question Id : 97675522349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Night blindness is mostly caused due to Vitamin deficiency.
Options :

1. % Vitamin C

2. % Vitamin A

3. % Vitamin K

4. ® Vitamin E

Question Number : 119 Question Id : 97675522349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il SraraR B! HH & HRUBI &
Options :

1. % fqerti= ¢

2. ¢ faeifiFd A

3. % faeifi K

4. % fqefi E

Question Number : 120 Question Id : 97675522350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Madras Developmental Programming Scale (MDPS) have:
Options :

1. % 5 domaoins

2. % 26 domains

3. # 20 domains

4. % 18 domains

Question Number : 120 Question Id : 97675522350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ao SaAuHced UM ¥hd (MDPS) H gl

Options :



1. % 530
2. % 26 8IHA
3. % 20 3
4. 18 8IFF

Discipline2
Group Number : 7
Group Id : 976755788
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 9767551218
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551419
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 97675522351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
APGAR score is taken:

Options :

1. # at the age of 1 year

2. % after six months

3. ¥ immediately after birth

4. % before birth

Question Number : 121 Question Id : 97675522351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

APGAR TR forar ST 81
Options :

% 1 DIITH

2. % BE HeIH Il

3. ¢ S & q¥d §1G

4. % I UG

Question Number : 122 Question Id : 97675522352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Average hearing level (in decibles):
Options :

1. % 26-40

2. % 70-90

3. % 91+

4. ¥ 0-25

Question Number : 122 Question Id : 97675522352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T YA TR ERICRIEGIE]
Options :

1. % 26-40

2. % 70-90

3. % 91+

4. ¥ 0-25

Question Number : 123 Question Id : 97675522353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The full form of NIEPVD is:

Options :

1. #® National Information for the Empowerment of Persons with Visual Disabilities
2. ¥ National Institute for the Empowerment of Persons with Visual Disabilities

3. # National Institute for the Encouraging of Persons with Visual Disabilities

4. ® National Institute for the Encouraging of Persons with Vital Disabilities

Question Number : 123 Question Id : 97675522353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

.33 3 d. .3 (NIEPVD) 1 Iuf U FaT 82

Options :

1. ® 9T SHIHTH BR g TUTaHe 3 TRy fag fagsia feafafacs
2. ¢ AR $XIegC BR & YUTaRAC 3t =g fag fager feafaferds
3. % AT WYL B & TGRS 3iih Ty fag fagsra feafafecs
4. % YA WIS BR & TAHIT 316 T fag arged feafaferds

Question Number : 124 Question Id : 97675522354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The full form of AYJNISHD is:



Options :

1. % Ali Yavar Jung National Institute of Speech and Hearing Disabilities

2. % Ali Yavar Jung National Information of Speech and Hearing Disabilities
3. # Ali Yavar Jung National Information of Speech and Hearing Deformities

4. % Ali Yavar Jung Northen Institute of Speech and Hearing Disabilities

Question Number : 124 Question Id : 97675522354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T.9Ts.51.T.315.U9. 1. (AYINISHD) &1 g1 U &1 g2
Options :

1. ¢ 3fcl gTaR SHT AR S lee 3 Wig TS g feafaferds
2. % 3l TR ST ARF SHIARA I Wi T fgafi feafaferds
3. % 3l YR ST AR SWHIARM 31 Wi U fGaR fewittce
4. % 3l IAR ST AlGA sxclege 3 Wi Ue fgaieT feafaferds

Question Number : 125 Question Id : 97675522355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The full form of NIEPMD is:

Options :

1. # National Institute for Encoraging Persons with Multiple Disabilities

2. # National Information for Empowerment of Persons with Multiple Disabilities
3. ¥ National Institute for Empowerment of Persons with Multiple Disabilities

4. % National Institute for Empowerment of Persons with Many Disabilities

Question Number : 125 Question Id : 97675522355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T.3113.3. 41 0. €Y. (NIEPMD) &1 JUi 32U &1 82
Options :



1. % AT SHISIE BR B T8 fag Aeciud fsafaferdts
2. % YA SHIHIE BR TOraRAe T o=y fag Heelua feafafads
3. ¢ AT §HIege BR TOTaRAe 3 td-g fag geeiud feafaferds
4. % =M S ISYC BR TUTERAC 3 0=y fag A feafaferdis

Question Number : 126 Question Id : 97675522356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The full form of PDUNIPPD is:

Options :

1. # Pt. Deendayal Upadhyaya National Information for Persons with Physical Disabilities
2. # Pt. Deendayal Upadhyaya Northan Institute for Persons with Physical Disabilities

3. # Pt. Deendayal Upadhyaya National Institute for Persons with Physical Deformities

4. ¥ Pt. Deendayal Upadhyaya National Institute for Persons with Physical Disabilities

Question Number : 126 Question Id : 97675522356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&g w9 0§ €. (PDUNIPPD) %1 YUf U T B2

Options :

1. % U. eI SUTHR ARHd SHiHH BR 0H- fag fthfored feafafeds
2. % T, SHeTd SUTEH Aig SR Ice Bk U8 fdg fthfoidhd feafaferdist
3. % . dHcaId SUTER ARMd SXIegc Bk TS [dg it d fShifHeTs
4. ¥ U, TG ST ARMd S BR Tu-Y fdg fhfviea feafafads

Question Number : 127 Question Id : 97675522357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The full form of NILD is:
Options :

1. ¥ National Institute for Locomotor Disabilities



2. % National Institute for Locomotor Deformaties
3. % National Institute for Lifelong Disabilities

4. % National Integration for Locomotor Disabilities

Question Number : 127 Question Id : 97675522357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 3MTS.Ud. 8. (NILD) &1 quf &0 Fr 82
Options :

1. ¢ A ST BR AidbHe: feafaferdis
2. % AR ST BR AldpAeR fSwiHdle
3. % 9YFA SHIEIC BR Asha-] fedfafacisl
4. % AW SUTE BR Ao AR fSAfaferdts

Question Number : 128 Question Id : 97675522358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The full form of NIEPID is:

Options :

1. # National Institute for the Empowerment of Persons with Integrated Disabilities

2. # National Institute for the Encouraging Persons with Intellectual Disabilities

3. # National Integration for the Empowerment of Persons with Intellectual Disabilities

4. ¥ National Institute for the Empowerment of Persons with Intellectual Disabilities

Question Number : 128 Question Id : 97675522358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U318 3.10.318. 1. (NIEPID) &1 quf &0 &1 82

Options :
1. % YA SIege BR § TuaRHAc 3 1=y fag gfedies fedfafads
2. % YA SKICYE BR & TAHIOHT U= fdg Scaagsid feafafadis




3. % M SCIURH BR § TAIaRAC 3 T8~ fdg Scaagsid feafaferdist
4.« AW SXICYC BR § TAIGRAC 3 06~ fdg Scaageid feafaferdist

Question Number : 129 Question Id : 97675522359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eyes are the most significant sense organ in understanding external world, sighted children receive about % information through their
eyes.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.80

2.100

3.50

4. 60

Question Number : 129 Question Id : 97675522359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁgﬁmﬁmﬁﬁ&mmww&mﬁ@mwm@aﬁm&mﬁ?mmﬁwm % ST U1
|

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 83

2.100

3.50

4.60

Question Number : 130 Question Id : 97675522360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Developmental Psychologists are concerned with human growth and the factors that shape behavior from:
Options :

1. ¢ birth to old age

2. # birth to 2 years

3. % birth to 18 years

4. % 18 years and above

Question Number : 130 Question Id : 97675522360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B TaTa® THIAIS A4 [T 3R TagR BT SR & I SRS I T 3
Options :

1. ¢ delUl oH

2. % 2 Ycf dob ofH

3.% JHY 18 TY

4. % 13 q9 3R I 3B

Question Number : 131 Question Id : 97675522361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Learn from experience, is to make a backward and forward connection:

Options :

1. ¥ between what we do to things and what we enjoy or suffer from thing in consequences
2. % between experience and thinking

3. #® between learning and teaching

4. ® between experience and learning

Question Number : 131 Question Id : 97675522361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3{IHd T IraHT, Ty} 3R SREATHY Ty (dhds 3R RS H-aRH) SAFT g
Options :

1. g il & R e d €, 3R sy W &7 <iSl &1 SiFe dd § AT a8l &, o
2. % U 3R RidA & o9

3. % 3T 3R Rrgur & oiw

4. % YT 3R e & o=

Question Number : 132 Question Id : 97675522362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
emphasizes on methods of learning rather than teaching.
Options :
1. ¥ Naturalism
2. % Idealism
3. # Pragmatism

4. ¥ Existentialism

Question Number : 132 Question Id : 97675522362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & VI TR SHRRTH & bl TR SR T 3|
Options :
1. ¢ Upfddre
2. % 3TeRiarG
3. % IdgRdiq
4. % 3HIadrg

Question Number : 133 Question Id : 97675522363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
says “Since Growth is the characteristic of life, education is all one with growing; it has no end beyond itself.”



Options :

1. ¥ Dewey

2. # Rousseau

3. % Thomas Hobbes
4. # Herbert Spencer

Question Number : 133 Question Id : 97675522363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ Pgd g, “dfe faer Sitad of fagvar 3, e faera & 91y TehTd §; S9! Wd 4 W is 3id T8l 87|
Options :

1. ¢ Stat

2. % =4I

3. % YOy gisy

4. % g WM

Question Number : 134 Question Id : 97675522364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process by which we organize and interpret the patterns of stimuli in our environment.

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Perception
2. Memory
3. Attention
4. Sensation

Question Number : 134 Question Id : 97675522364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I8 UfohaT g oI §IRT 81 30+ aTdTaRol | Jaor1sil o UeH &I Fafyd 3R s R g |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3Yfd
2. HARY

3. 9
4. G

Question Number : 135 Question Id : 97675522365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The response evoked by the conditioned stimulus after learning is known as:
Options :

1. #® The Unconditioned Stimulus (US)

2. % The Unconditioned Response (UR)

3. ¥ The Conditioned Response (CR)

4. ® The Conditioned Stimulus (CS)

Question Number : 135 Question Id : 97675522365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRe & §1¢ AAMH O Se1U9 gRT S&d Uidfhal Hadmd 6:
Options :

1. % foH7 30 Urere (3R

2. % T 37 Ufafehar (@em)

3. ¢ drardierd idfshar (I13MR)

4. % QrATHIA e (TTE)




Question Number : 136 Question Id : 97675522366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gandhi’s concept of education:

Options :

1. ® is not a 'drawing out process' but a 'pouring in process'.
2. ¥ is not a ‘pouring in process’ but a drawing out process.
3. # is a 'pouring in process'.

4. ® is 'giving information'.

Question Number : 136 Question Id : 97675522366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el T fRram BT raeyrRom, |
Options :

1. % TG Ui vl Ufeh 7Iel, dfesh UishdT & gor 8
2. ¢ g UfchaT H <1 g, Sfceh UhcIhxu Ufshar g
3. % ggufbar A gaT g

4. % U THHR] UeH BT 8

Question Number : 137 Question Id : 97675522367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clinical assessment refers to:

Options :

1. ¥ the assessment carried out by trained professional in clinical setting
2. # the assessment carried out by trained professional at home

3. # the assessment carried out by untrained person in clinical setting

4. ® the assessment carried out by family members

Question Number : 137 Question Id : 97675522367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafercgetg sifewad (Clinical assessment) B Geid Hal % |
Options :

1. ¢ TfreTy sraw | URiférd URieR gRT b U sfidad

2. % TR IR YR URIR R b T Siidpe

3. % Rfbaa gar # smfkiférd safadl gRT U 71U siida

4. % URAR & &l gR1 fbT 7T 3ficber

Question Number : 138 Question Id : 97675522368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Early intervention:

Options :

1. ¢ play a significant role in preventing and reducing the extent of developmental delay

2. ® do not play a significant role in preventing and reducing the extent of developmental delay
3. # play a significant role in increasing the extent of developmental delay

4. ® do not play a significant role in reducing disability

Question Number : 138 Question Id : 97675522368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS gxIay (Early intervention) I

Options :

1. ¢ famraTer® fade &1 A &1 Ah- 3R HH B H Agayul YHHT AU §

2. % fa@TaT® fadd &1 W &1 A+ 3R HH B | Agayul YT g1 fAHTd §
3. % fqwraTEr® fadd & W & Jem § Hg@qu YHHT furd §

4. % fqHANT I HH B H Hedqu! Yf¥eT et AT §

Question Number : 139 Question Id : 97675522369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Middle childhood is considered to be:

Options :

1. ® from birth to the age of 2 years

2. % from the age of 2 years to the age of 7 years

3. % from the age of 7 years to the age of 11 years
4. ® from the age of 12 years to the age of 18 years

Question Number : 139 Question Id : 97675522369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A S D1 HHT ST B

Options :

1. % THY2 T4 P A D

2. % 2 U PI AG Y 7 TN B 3T dD
3.¢ 79 DI Y 11 TY DI G dH
4. % 2T B A 18 IY DI 3 dH

Question Number : 140 Question Id : 97675522370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Piaget sensorimotor Stage is:
Options :

1. ¥ 0-2 years

2. % (-5 years

3. # (-8 years

4. ® (-18 years

Question Number : 140 Question Id : 97675522370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & SR Ha_qpf-m (sensorimotor) X[ & & Eﬁ?‘ﬁ % |

Options :



1. ¢ 0-2 Y
2. % -5y
3. % 0.3y
4. % 0-18 TG

Discipline3
Group Number : 8
Group Id : 976755789
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 9767551219
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551420
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 97675522371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The human brain grows:

Options :

1. ¥ faster, early in development than any other organ of the body
2. % slower, delay in development than any other organ of the body
3. % similarly as other organs of the body

4. % faster in adolescent

Question Number : 141 Question Id : 97675522371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g AR faefrd gIaT 81

Options :

1. ¥ TRR & el ot 3=y 371 & o o ool ¥ 3R et
2. % TR % el oft o o @ g & o iR 30D
3. % YRR & 3 371 DI ARG &l

4, % fHTRIGRTH dofl §

Question Number : 142 Question Id : 97675522372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The period of embryo lasts from:

Options :

1. # fertilization until the blastocyst becomes deeply implanted in the uterine lining
2. ¥ implantation through the eighth week of pregnancy

3. % till end of pregnancy

4. % two weeks

Question Number : 142 Question Id : 97675522372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UT Y 3fafY) el dep T8 87

Options :

1. # f999 I 99 dP, TT9 a® soge] (SAReIe) THR™ &t 1Rd H TexTs I ARG ol 8l STl
2. ¢ JARIYU § THIGRIT & 3184 Tiig db

3. % TYGRT& 3fd dd

4. % G g

Question Number : 143 Question Id : 97675522373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Development proceeds form the head downward, this is called the cephalocaudal principle:
Options :

1. # according to this principle the child gains control on legs first

2. # according to this principle the child gains control on arms first

3. # according to this principle the child gains control on all organs at same time

4. ¥ according to this principle the child gains control of the head first

Question Number : 143 Question Id : 97675522373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o RR T 2 1 3R gIa1 8, 39 Rithaldbied Rigid a1 Il g

Options :

1. % 39 RIgid & SR S 999 Ugd tRY UR =01 UTed dral 5|

2. % 3 RAGId & TR dTd® Tad Ugd Yolaf R =101 Ui SR ] |

3. % 3 RIGId & SR o= U gt 9g & qut 31 IR =01 ved R A ]
4. ¢ 39 RIgid & SR I=a1 9o Ugd RR IR 701 g1d et |

Question Number : 144 Question Id : 97675522374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Growth and development proceed from:



Options :

1. ¥ general to specific

2. # gpecific to general

3. # specific and general simultaneously

4. % individual to individual

Question Number : 144 Question Id : 97675522374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfa SR fawra ded gl

Options :

1. ¢ g 9 ARy & ek

2. % [ Q IH dF T 3R

3. % ff¥Iy 3R =T % U 1Y

4. % MY (Individual) ¥ AP (Individual) BT AR

Question Number : 145 Question Id : 97675522375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Self recognition refers to:

Options :

1. # perception of self as a part of society

2. # perception of self as a part of family

3. ¥ perception of the self as a separate being
4. % perception of family

Question Number : 145 Question Id : 97675522375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M-I (@ Repfirer) &1 Yefid Hrar gl

Options :



1. % AN o T YN & ¥U H W0 DI YR
2. % ORAR & T YR & =0 H GG BT YRON
3. ¢ U 3T Afadd & &4 H G Bl YRT
4. % URAR D YROM

Question Number : 146 Question Id : 97675522376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By 7 to 8 years children have formed at least three separate self esteems:
Options :

1. ¥ academic, physical and social

2. # social, cultural and physical

3. # friendship, relationship and mutual trust

4. % mutual trust, loyality and love

Question Number : 146 Question Id : 97675522376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

78 8 TY DI G AP & T HH Y HH <A1 - HTGI-ST (self esteems); CEIRNGE]
Options :

1. ¢ eI, ARG SR T
2. % QHTID, IRP® R HIfdd
3. % qrdt, R=d SR o fayr
4. % ot fayry, AT ok UH

Question Number : 147 Question Id : 97675522377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During , children acquire a variety of pragmatic skills that permit them to engage in more sustained and effective conversation with
others

Options :
1. * late childhood



2. % early and middle childhood
3. % carly childhood
4. % adulthood

Question Number : 147 Question Id : 97675522377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& GRM, T fAfid UHR & ARG SR W Hd &, Sl 38 Gkl &b 1Y TYH fRUR 3R TH1at STa<did § au g |
AT U R ¢ |
Options :
1. % Heg U
2. ¢ URFYS 3R AL gau=
3. % URIYS gauq
4. ® qIhdl

Question Number : 148 Question Id : 97675522378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The age range of Pre operational stage is:
Options :

1. % 18 years and above

2. # 18 months to 2 years

3. % 2to 7 years

4. ¥ 12 months to 18 months

Question Number : 148 Question Id : 97675522378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T4 uReETe @R (3 {TREHd o) gl
Options :

1. % 18 99 3R IT 31




2. % 18 HE Y 2 aY
3.¢297a4

4, % [2HE Y 18 HIE

Question Number : 149 Question Id : 97675522379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cognition refers to the process through which:

Options :

1. # information coming from the senses is used directly

2. ¥ information coming from the senses is transformed, reduced, elaborated, recovered and used
3. # information coming from the senses are not used

4. # learning happens

Question Number : 149 Question Id : 97675522379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 150 Question Id : 97675522380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Gardner’s theory of multiple intelligences Bodily — Kinesthetic intelligence is the ability:
Options :

1. # to include reading other people’s mood

2. % to reason logically, especially in mathematics and science



3. ¥ to use one’s body skilfully; it includes dancing, playing; performing

4. # it includes: distinguishing emotions like sadness and regret

Question Number : 150 Question Id : 97675522380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 151 Question Id : 97675522381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Learning disability refers to heterogeneous group of manifested by a significant difficulties in the acquisition and use of listening,
speaking, reading, writing, reasoning or mathematical abilities.

Options :

1. ¢ disorder

2. % disabilities
3. # impairments
4. ® abilities

Question Number : 151 Question Id : 97675522381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fddR
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3. % gifaal
4. % o

Question Number : 152 Question Id : 97675522382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Adopting a child centered approach enables the child with specific disability:
Options :

1. ¥ to cope with the regular school

2. # to cope with the special school

3. # to cope with the family

4. % to cope with friends

Question Number : 152 Question Id : 97675522382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STel i~ S¥DI0N 3T  TAFRIS =TT (disability) dTd o= T g Bl
Options :
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Question Number : 153 Question Id : 97675522383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The range of ‘very superior’ 1Q is:
Options :

1. % 120-129

2. ¥ 130 and above

3. % 160 and above



4. % 110 and above

Question Number : 153 Question Id : 97675522383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tgd S8R 1Q BT AT () gl
Options :

1. % 120-129

2. ¥ 130 3R I 3B

3. % 160 3R IqY S

4. % 110 3R I 3w

Question Number : 154 Question Id : 97675522384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Perspective taking is the capacity:

Options :

1. ¥ to imagine what other people may be thinking and feeling
2. # to imagine of different things around us

3. # to imagine of creative arts

4. % to imagine of future aspects

Question Number : 154 Question Id : 97675522384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 155 Question Id : 97675522385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Behaviour modification can be:

Options :

1. ¥ used to increase desirable skills as well as to decrease undesirable problematic behaviour
2. % used to decrease desirable skills as well as to increase undersirable problematic behaviour
3. % used to decrease desirable skills as well as to decrease undersirable problematic behavior

4. ® used to increase desirable skills as well as to increase undersirable problematic behavior

Question Number : 155 Question Id : 97675522385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAgR RN (Behaviour modification) BT STINT |

Options :

1. ¢ TS SN T & TTY-T1Y HATSH1T THITRD SAdeR I HH B4 & ol foran o1 b1 8

2. % GBI PINA B HH B & JIY-TIY SATS-1T AR STIER Dl d¢MH & folg fhar 51 bl g

3. % ST PN B! HH B P JIY-TTY TSI JHURRT TGER Bl HH B & fo1g fHar off gt g
4. % ST BIYA I P IIY-TTY 3fdifesd THRRT IR B! 9¢H P T fHar ot hdi &

Question Number : 156 Question Id : 97675522386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Management of problem behaviours should start:

Options :

1. #® by changing the reinforcement

2. ¥ by changing the environment and proceed to application of reinforcement principles and finally other techniques
3. # by punishments

4. ® by motivation

Question Number : 156 Question Id : 97675522386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¢ URAY Pl TEADR 3R TTADHRUT Rigidl B VAT T 31 Fedx 3R 3fd T o dd-id| & A1y o
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4. % YO GRT

Question Number : 157 Question Id : 97675522387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The curriculum:

Options :

1. # should not provide ample opportunities
2. % should not encourage the children

3. # must stimulate children to giveup

4. ¥ must stimulate children to solve problems

Question Number : 157 Question Id : 97675522387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 158 Question Id : 97675522388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Diversity is the key feature that is found in nature. No human being is alike, so the principle of respect for difference and acceptance of disability
shoud be considered as the part of human and humanity.

Options :

1. ¥ Diversity
2. % Originality
3. % Specific

4. # Psychology

Question Number : 158 Question Id : 97675522388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 97675522389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The journey from is the whole story of the evolution of the way we perceived diabled persons from time to time.
Options :

1. * inclusion to segregation

2. ¥ segregation to inclusion

3. #* integration to inclusion

4. # integration to segregation

Question Number : 159 Question Id : 97675522389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 160 Question Id : 97675522390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Learning disability is due to the dysfunction in which may cause the learner to perceive and process some information with error
Options :

1. ¥ nervous system

2. # disgestive system

3. % peripheral system

4. # blood circulation system

Question Number : 160 Question Id : 97675522390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 97675522391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Task analytic approach helps us in pinpointing students functioning level:
Options :

1. # on providing instructions

2. % on a specific task and also provides basis for sequential instruction
3. # on task without any sequence

4. # on specific task without any sequential instruction



Question Number : 161 Question Id : 97675522391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 97675522392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Indoctrination refers to:

Options :

1. # the altering of behavior

2. ¥ the alteration of peoples’ beliefs

3. # classical conditioning

4. ® conditioning of behaviour

Question Number : 162 Question Id : 97675522392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AARITT (Indoctrination) f5q defifa Harg?

Options :

1. % JdgR § TR (The altering of behavior)

2. ¢ AN B ARITS] H gearg (The alteration of peoples’ beliefs)
3. % QAR UIH e (Classical conditioning)

4, # GJgR DI UTJH A (Conditioning ofbehaviour)




Question Number : 163 Question Id : 97675522393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When Backward chaining is used:

Options :

1. ¥ the components of chain are acquired in reverse order

2. # the components of chain are acquired in first step to last step

3. # the student performs all of the steps in sequence until the entire chain is mastered
4. % the next step is taught after mastering the first step

Question Number : 163 Question Id : 97675522393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 164 Question Id : 97675522394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When RCI Act enacted?

Options :

1. ¥ 1992

2. % 1999

3. % 1995

4. % 2016

Question Number : 164 Question Id : 97675522394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
RCI SYHTH S AR g3

Options :

1. ¥ 1992

2. %1999

3. % 1995

4. % 2016

Question Number : 165 Question Id : 97675522395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was set up on 1st September 1961 as an autonomous organization.
Options :
1. % NIVH
2. % NIOH
3. % NIMH
4. ¥ NCERT

Question Number : 165 Question Id : 97675522395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 RITIAT 1 RIdeR 1961 1 U WK WA & = H $I 715 At
Options :
1. % NIVH
2. % NIOH
3. ¥ NIMH
4. ¥ NCERT

Question Number : 166 Question Id : 97675522396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WHO — World Health Organization was founded in:



Options :
1. % 1950
2. % 1951
3.9 1948
4. % 1960

Question Number : 166 Question Id : 97675522396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S&UAS{ (WHO) - [4% TRy T &1 RITUAT Hgs
Options :

1. # 1950

2. %1951

3.9 1948

4. % 1960

Question Number : 167 Question Id : 97675522397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Social development means:

Options :

1. ¥ acquisition of the ability to behave in accordance with social expectations
2. % acquisition of the ability to behave in accordance to self expectations

3. # acquisition of the unability to behave in accordance with social expectations

4. ® acquisition of the ability to behave in accordance to human expectations

Question Number : 167 Question Id : 97675522397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 97675522398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Educational Multmedia Research Centre was established by:
Options :

1. # WHO

2. % SSA

3. # NCERT

4. ¥ UGC

Question Number : 168 Question Id : 97675522398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % {3y WY T3 (WHO)

2. % d TRref R (SSA)

3. % TAOS3RE (NCERT)

4. ¢ fayfqenaa 3ra™ AN (UGC)

Question Number : 169 Question Id : 97675522399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to there is a provision to appoint a Legal Guardian to take care of Mentally Retarded person.
Options :

1. # RPWD Act 2016

2. # RCI Act 1992



3. % PWD Act 1995
4. % National Trust Act 1999

Question Number : 169 Question Id : 97675522399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& TR HHRIS ¥ I T Afad Bt c@HTA & o8 T BT SHUTIS Fgad - &1 Uau™@ 5|
Options :

1. % RPWD 3T 2016

2. % RCI 3MAFTH 1992

3. % pwWD 3{fIfTH 1995

4. BT Y SMAFRTH 1999

Question Number : 170 Question Id : 97675522400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the scholarship scheme of National Trust Act 1999 to encourage the disabled covered under the NT act for pursing vocational
training/ professional courses for developing their skills to obtain meaningful employment and lead a life with dignity.

Options :

1. % Niramay

2. % Uddyam Prabha
3. ¥ Arunim

4. ¥ Gyan Prabha

Question Number : 170 Question Id : 97675522400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % IYHYH
3. % 3o
4. JHE YT

Question Number : 171 Question Id : 97675522401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Value education refers to a planned educational process aimed at the development:
Options :

1. # of proper attitudes, emotions and characters in the teacher

2. ¥ of proper attitudes, emotions and characters in the learner

3. % of the behavior

4. # of proper attitudes, emotions and characters in the family

Question Number : 171 Question Id : 97675522401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 172 Question Id : 97675522402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Various laws relating to marriage enacted by government for different apply equally to the persons with disabilities.
Options :

1. ¥ communities

2. % financial levels



3. ¥ gstates

4. ¥ npations

Question Number : 172 Question Id : 97675522402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 97675522403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A systematic recording:

Options :

1. ® is unuseful in any teaching procedure

2. ¥ help in identifying the error and take remedial measures
3. # is not useful in any learning procedure

4. # do not help in identifying the error

Question Number : 173 Question Id : 97675522403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 174 Question Id : 97675522404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the importance of record for students with intellectual disabilities?

Options :

1. ¥ Records serve as a source of information for decision-making and helps in maintaining the continuity
2. #® Records are maintained to note the day to day activities

3. % There is no need to maintain the records

4. ® Records do not play a vital role

Question Number : 174 Question Id : 97675522404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 175 Question Id : 97675522405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Record keeping:

Options :

1. # can be made as per our convinence

2. ¥ must be tidy, concise, precise and regular.
3. # there is no need of keeping records

4. % is not useful



Question Number : 175 Question Id : 97675522405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 176 Question Id : 97675522406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Effective school Management is tha ability to establish maintain and restore the classroom as an Effective environment for and
(Borphy 1986).

Options :

1. ¥ teaching; learning

2. # prayer; lunch

3. ¥ teachers; students

4. % therapies; extra curricular activities

Question Number : 176 Question Id : 97675522406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 177 Question Id : 97675522407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Continuous evaluation results:

Options :

1. #® do not help either the teacher or the student

2. ¥ help the teacher with evidence of successful or faulty teaching or learning
3. # do not help the teacher in any circumstances

4. % do not help the student

Question Number : 177 Question Id : 97675522407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 97675522408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Involving parents, benefits the children:

Options :

1. ¥ as the instruction takes plase in natural setting, which may not be possible without parental involvement
2. # as the instruction takes plase in unnatural setting

3. # to help the teachers

4. # to reduce the pressure on teachers



Question Number : 178 Question Id : 97675522408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 179 Question Id : 97675522409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of resource room emerged:

Options :

1. #® from the resource plan of special school

2. ¥ from the resource plan of integrated education
3. # from the resource plan of normal education

4. ® from the resource plan of abnormal education

Question Number : 179 Question Id : 97675522409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y B DT SHTYRUT Wl
Options :

1. % fouiy fogmag & Suea da 9
2.« Ubighd fRI&M &1 e i1
3. % Ay g o I dd 9

4, % MY e & Ie= da I

Question Number : 180 Question Id : 97675522410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Inclusive education is a means of creating:

Options :

1. #® classrooms where the educational needs of all children including children with disability are not fullfilled

2. % effective classrooms where the educational needs of all normal children are addressed

3. ¥ effective classrooms where the educational needs of all children including children with disability are addressed

4. % cClassrooms where the educational needs of disabled children are taken care of

Question Number : 180 Question Id : 97675522410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEICRIENIA) |

Options :

1. % U Heml S &1 IS YA § Sl (Al gl Uied vt =l o1 Afere Sazashdid O3t el gl &

2. % JUT FHeTE T BT TH 18 § Sg! I+ T S &1 Afeih saadarsti &l OR7 fordm ST 8

3. ¢ QUTE FH&ME T &1 T T § gl [abai gadi digd T+ S &1 Aféidh srazadmdrsii &1 QX1 fawa sirar g
4. % FHETE T BT TH Y § ST81 (AT Sl 1 AT ATTRIHarsi o1 & T ol §
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Question Number : 181 Question Id : 97675522411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Integrated approach is of general education system.
Options :

1. # ‘APART’

2. % ‘A PART’

3. ¥ NOT A PART

4. % INTEGRAL PART

Question Number : 181 Question Id : 97675522411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIpd edPU I Renyomelt Bl
Options :

1. % < 3T (APART)’

2. ¢ DI T YN (A PART)’

3. % BT TP YN Tl (NOT A PART)

4. % 3{f¥F 3T (INTEGRAL PART)



Question Number : 182 Question Id : 97675522412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The continuity of evaluation is for evolving effective teaching.
Options :

1. # not expected

2. % not necessary

3. * non essential

4. ¥ essential

Question Number : 182 Question Id : 97675522412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUTET S1eATI fawmRId HR & forg Hedie & fARaRdl gl
Options :

1. % 3 T

2. % 3AYD gl

3. % 3ffard =g

4.« AaRd

Question Number : 183 Question Id : 97675522413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher need to perform a variety of functions in addition to those performed by the class teacher, work as a friend, philosopher and
guide to the children, parents and the class teacher. (Stein (1995))

Options :

1. ¥ Itinerant teacher

2. # Integrated educator
3. % Class teacher

4. ¥ Therapist



Question Number : 183 Question Id : 97675522413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B BT e & U H fHT oH a1d B3 Bl & Sdral, st 3R ATd-ar & forw ue i, iAo 3R Anfaefe & wu A
maﬂﬁﬁ&mwsﬁ?ﬁ%lmaws))

Options :

1. ¢ IR JHAUD
2. % Tblpd AAUD
3. % HefT AAUD

4. % fofbdd

Question Number : 184 Question Id : 97675522414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In order to introduce the blind child to school the resource/ itinerant teacher should contact to explain the programme and their role.
Options :

1. % classmates

2. ® parents

3. % relatives

4. ¥ headmaster/class teacher

Question Number : 184 Question Id : 97675522414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W%ﬁ%m@rﬁ%wﬁ%%nﬁww&@w&r%ﬁwltfan\l'aﬁT\ﬁob“lWﬁmﬁ%ﬁm T U
PRl I

Options :

1. % gguradl

2. % Tl - fUar (SifruTaeT)

3. % R=AeR!

4. ¢ YYHTHTI D, D ETHTID




Question Number : 185 Question Id : 97675522415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Role of head of institution of general school play a vital role in success of:
Options :

1. # DDRS

2. # IEP programme

3. % CBR

4. ¥ [ED programme

Question Number : 185 Question Id : 97675522415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foRITerd &1 ST & U@ &t YHdhT & Hadl B Ag@yul YT T B
Options :

1. # DDRS

2. % [EP HRIHH

3. % CBR

4. ¥ IED ®RIpH

Question Number : 186 Question Id : 97675522416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inclusion offers a different perspective on:

Options :

1. ¥ the education of child with disability in ordinary school
2. % the education of child with disability in special school
3. # the education of normal child in special school

4. % the education of a normal child in normal school

Question Number : 186 Question Id : 97675522416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

JHAY IR TH e VB0 Tgd FRl g |
Options :

1. ¢ G faemaa | [adbai s=d &1 e

2. % fouiy fogmea © f[awmai sl &1 fran

3. % foRiy faermerg o 9= o= &1 e

4. % QY foeTed o U 9 o< & fRrer

Question Number : 187 Question Id : 97675522417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mainstreaming is an opportunity for the disabled student:

Options :

1. # to segregrate himself/ herself from the society

2. ¥ to develop the peer relationship with non disabled students necessary for maximum achievement and social development
3. % it is not an opportunity

4. ® to get rejected by the non disabled students

Question Number : 187 Question Id : 97675522417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeperT ST & forg AT (T URT) U SR g, |

Options :

1. % AT Y WY B 3T HRA Bl

2. ¢ JHfYHIH Iuafed 3R TS faewT & g srawass TR-famaiT SEl & 1Y YHG e Tae famRid HA &
3. % U5 U AR gl §

4. % IR faHaiT SHEI gRT 3RAIEHd B BT

Question Number : 188 Question Id : 97675522418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



To achieve the goal of education for all:

Options :

1. ¢ children with disability were brought under the scheme of Integrated Education for Disabled Children (IEDC)
2. % children with disability were brought under the National Trust Act

3. % children with disability were brought under the RCI Act

4. ® children with disability were brought under the PWD Act

Question Number : 188 Question Id : 97675522418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1t o T fR1aM o &7 &1 Ut HA o g, |

Options :

1. ¢ Tawai gl &1, fawai s & g Tbigd RIS (IEDC) TS & Sfavid o T §
2. % fapdiv sl &1 AP =1y ifAfAaw & siafd ferar mar g

3. ® fqgai s &) RC1 SffYgw & 3faeia feram man

4. # fagpam = & pwD IR & 3faia feram mar 8

Question Number : 189 Question Id : 97675522419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaluation of IEDC program is the responsibility of:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. Special school

2. Vocational training center
3. State Government

4. Central Govrnment

Question Number : 189 Question Id : 97675522419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IEDC STIhH BT Yetih ! R B
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. foRiy faermera

2. TS URIE0T FH5

3. Y dIDPR

4, b5 DR

Question Number : 190 Question Id : 97675522420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parents of children with disabilities can promote cognitive development among their children by:
Options :

1. # criticizing the child

2. # abusing the child

3. % beating the child

4. ¥ providing objects, toys, materials to play, encouraging them motivating them

Question Number : 190 Question Id : 97675522420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A anT §=di o HIdl-fudT 3 = H TYHTHSD AT Y dgraT ¢ Ihd g |
Options :

1. % §od I HTARAT B

2. % § & 1Y GHdER PR

3. % g Pl Ule R

4. « XM, g, Ve & o Ih ve™ @R, 3 Widnied &, 3= URd &2




Question Number : 191 Question Id : 97675522421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The objective of DPEP is:

Options :

1. ¥ Providing access to primary education to all children

2. ® Providing access to secondary education to all children

3. # Providing access to primary education only to disabled children

4. ® Providing access to higher secondary education to all children

Question Number : 191 Question Id : 97675522421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DPEP &1 380 gl

Options :

1.« Gt o=l o ITfies fR1e a% Ugd U Rl
2. % Tt S &1 Areafies e 9@ ugd U™ Bl

3. % Had faemai g oI MU e 9% ugda Uaq &3l
4. % QU 5=l o) I WAl e db ugd e Al

Question Number : 192 Question Id : 97675522422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What a person with low vision may be able to see?

Options :

1. #® people with low vision are not able to see light colour,movement, dimension, shape and size
2. ¥ people with low vision may see light colour,movement, dimension, shape and size

3. # people with low vision cannot see any thing

4. ® people with low vision can see clearly

Question Number : 192 Question Id : 97675522422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o4 = arar safed 1 37 Yol /2

Options :

1. % H P I T gedb T, T4, 3T, 3MHTd 3R PR &Y 78 ¢@ Ul & |
2. HH TP aTd AR gedbl T, TIfd, ST, 3BT 3R HTHR <8 AHhd & |

3. % UV I AN $o W TR 48 U B

4. % HH D I T WP @ JHd 5|

Question Number : 193 Question Id : 97675522423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dual Teacher Model means:

Options :

1. ¥ the regular teacher takes care of the disabled child in addition to the regular class teaching

2. % the disabled child is enrolled with the special teacher from where he goes to the regular class for a part of the day
3. % the disabled child is enrolled with the special teacher only

4. % the disabled child is enrolled with the regular teacher only

Question Number : 193 Question Id : 97675522423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3IeN e Aisd o1 am 3 82

Options :

1. ¢ fafia e faftra wen fRiemr & sramar faeant g & S@HTE Bl g |

2. % 3BT = BT AHIH IR e B TgT BT S1dT 8, Sigl 9 98 a7 & T i H fFafid Ham J S g
3. % fIpanT 9= &1 AHET Had AR fRIefw & TgT BT Sdr g |

4. % fQpdnT S &1 AHIG Had A fRIe/w & TgT BT Sdl g |

Question Number : 194 Question Id : 97675522424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IEDC - Integrated Education for the disabled children:

Options :

1. # is a centrally sponsored scheme, which supports to provide educational opportunities for the disabled children in special school
2. ¥ is a centrally sponsored scheme, which supports to provide educational opportunities for the disabled children in regular school
3. # is a state sponsored scheme, which supports to provide educational opportunities for the disabled children in regular school

4. % is a state sponsored scheme, which supports to provide educational opportunities for the disabled children in special school

Question Number : 194 Question Id : 97675522424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEDC - fadaiT o=l & e Uastapd fRiar |

Options :

1. % Up g UAITd Ao 8, ST faxiy e & faswai s=ai & forg Qe S/awR ueH o # Igai oxdl 8
2. ¢ T g YIS AT 8, St Fafid faerea ® fawdi st & fore 2féie 3/awR U o3 # 9gaiT &t g
3. % T T YA Ao 8, S Fafid faenaa & fisai st & foe Qféie 3/awR UeH &1 A 9ganT ol §
4. % T T YOG TS 8, St IRy faermera ® fasai s=f & fore feies SiaR UeM 3 & 9gaiT ot o

Question Number : 195 Question Id : 97675522425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The teacher pupil ratio for special education should be ideally:
Options :

1.%1:5

2.9¥1:8

3.%1:10

4. % 1:15

Question Number : 195 Question Id : 97675522425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa=iy fR1en & for fRige-am= SruTd eyl U 4 HRIEIEY



Options :
l.%1:5
2.9 1:8
3.%1:10
4, % 1:15

Question Number : 196 Question Id : 97675522426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The full form OLM is:

Options :

1. # Open Logistic Material

2. # Off Learning Material

3. % Open Learning Material

4. # Open Learning Model

Question Number : 196 Question Id : 97675522426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3f1.TA.TH. (OLM) HT YUl &7 &1 §7
Options :

1. % 3O diIReD AT

2. % 3ffth AT AeRad

3. ¢ 3y AT HeRad

4. % 3= AT HiSd

Question Number : 197 Question Id : 97675522427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The advanced satellite communication has become a boon for the learners located in rural and remot areas:
Options :



1. ¥ who do not have access to either telephone or cable
2. % who have access to telephone and cable
3. % who do not have access to the city

4. ® who have access to school

Question Number : 197 Question Id : 97675522427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ foFd U T Al T 8, 3R T8l had gl Ugdl §
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Question Number : 198 Question Id : 97675522428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIET- Central Institute of Educational Technology works as an autonomous organization under:
Options :

1. # ministry of social justice and empowernment, government of india

2. ¥ ministry of education, government of india

3. ® ministry of finance,government of india

4. ® ministry of carporate affars, government of india

Question Number : 198 Question Id : 97675522428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIET-3 41T Qe Mot T=IM P d8d U WA 16 & U H HTH HAT 5|
Options :
1. % TIPS T 3R HYBTRT HATAT, HRd IRBR




2.« A S91YA [AHT HAT0T, HRd TRDHR
3. % o 9910, HRd TRBR
4. % PHIIRC P HATAY, HRd IRBR

Question Number : 199 Question Id : 97675522429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The NPE recommends reorientation of the teachers training programmes, particularly for to enable them to meet special educational
needs of the disabled children.

Options :

1. # High school teachers
2. % Anganwadi workers
3. ¥ Primary teachers

4. % Special educators

Question Number : 199 Question Id : 97675522429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # T3 W SUD]
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4. % oY 3eagp]

Question Number : 200 Question Id : 97675522430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While utilizing the resources of the community in the task of rehabilitation, the itself has to be further equipped , empowered and
prepared to rehabilitate the persons with disabilities, the objective of rehabilitation being integration of special individuals in the community.

Options :



1. % School

2. ¥ Community
3. % Special school
4. ¥ Family

Question Number : 200 Question Id : 97675522430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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